
PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             1

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

AT-1202 (AUXILIARY) FUL-19 30T&30B

EH-6E706B-CD (Hybrid Electric System) FUL-35 L48

EH-6E706B-P (Hybrid Electric System) FUL-35 L48

EH-8E306A-CD (Hybrid Electric System) FUL-35 L48

EH-8E706A-UP (Hybrid Electric System) FUL-35 L48

EH-8E706A-UPG (Hybrid Electric System) FUL-35 L48

EH-8E406A-CD (Hybrid Electric System) FUL-35 L48

EH-8E406A-CDR (Hybrid Electric System) FUL-35 L48

EH-8E406A-P (Hybrid Electric System) FUL-35 L48

EH-8E406A-T (Hybrid Electric System) FUL-35 L48

EH-8E406A-UP (Hybrid Electric System) FUL-35 L48

EH-8E406A-UPG (Hybrid Electric System) FUL-35 L48

ET-16109 (Eaton China) Thrushaft use AU mounting N/A R58

ET-16109 (Eaton China) Countershaft N/A N/A

ET-16110 (Eaton China) N/A R58

ET-16113 (Eaton China) N/A R62

ET-18109 (Eaton China Countershaft) N/A N/A

ET-18109 (Eaton China) Thrushaft use AU mounting N/A R58

ET-18110 (Eaton China) N/A R58

ET-18113 (Eaton China) N/A R62

ET-20109 (Eaton China Countershaft) N/A N/A

ET-20109 (Eaton China) Thrushaft use AU mounting N/A R58

ET-20110 (Eaton China) N/A R58

ET-20113 (Eaton China) N/A R62

ET-16109 (Eaton China Countershaft) N/A N/A

ETO-16110 (Eaton China) N/A R69

ETO-16113 (Eaton China) N/A R69-B69

ETO-18109 (Eaton China Countershaft) N/A N/A

ETO-18110 (Eaton China) N/A R69

ETO-18113 (Eaton China) N/A R69-B69

ETO-20109 (Eaton China Countershaft) N/A N/A

ETO-20110 (Eaton China) N/A R69

ETO-20113 (Eaton China) N/A R69-B69

 



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             2

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

ETO-20113 (Eaton China) N/A R69-B69

ETS-16409 (Eaton India) Thrushaft use AU mounting N/A R58

ETS-16409 (Eaton India Countershaft) N/A N/A

ETS-16410 (Eaton India) N/A R58

ETS-16413 (Eaton India) N/A R62

ETS-18409 (Eaton India) Thrushaft use AU mounting N/A R58

ETS-18409 (Eaton India Countershaft) N/A N/A

ETS-18410 (Eaton India) N/A R58

ETS-18413 (Eaton India) N/A R62

ETS-20409 (Eaton India) Thrushaft use AU mounting N/A R58

ETS-20409 (Eaton India Countershaft) N/A N/A

ETS-20410 (Eaton India) N/A R58

ETS-20413 (Eaton India) N/A R62

ETSO-16409 (Eaton India Countershaft) N/A N/A

ETSO-16409 (Eaton India) Thrushaft use AU mounting N/A R69

ETSO-16410 (Eaton India) N/A R69

ETSO-18409 (Eaton India Countershaft) N/A N/A

ETSO-18409 (Eaton India) Thrushaft use AU mounting N/A R69

ETSO-18410 (Eaton India) N/A R69

ETSO-20409 (Eaton India Countershaft) N/A N/A

ETSO-20409 (Eaton India) Thrushaft use AU mounting N/A R69

ETSO-20410 (Eaton India) N/A R69

4106 N/A 47L

2A-92 N/A N/A

3905A N/A 36R

3905B N/A 36R

3905C N/A 36R

4106 O/D (OVERDRIVE VERSION) N/A 47L

4106A (MACK MIDLINERS) N/A 45L

4106B N/A 43L

6109A N/A 23L

F-5405-DM3 FUL-37 R39&L39

F-5405B-DM3 (6 Speed from Brazil w/6th gear locked out electronically) FUL-35 48R&48L



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             3

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

F-5406B FUL-35 48R&48L

F-6405B-DM3 FUL-35 48R&48L

F-6406N-ASW FUL-37 39R&39L

F8405B-DM3 FUL-35 48R&48L

F-8406N-ASW FUL-37 39R&39L

F-8406N-AW3 FUL-37 39R&39L

FM-14D310B-LST (UltraShift Plus) FUL-1 45R&47B

FM-14D310B-LST (UltraShift Plus) FUL-1 45R&47B

FM-14E310B-LAS (UltraShift Plus) Thrushaft use AT mounting FUL-1 45R&47B

FM-15D310B-LST (UltraShift Plus) FUL-1 45R&47B

FM-15D310B-LST (UltraShift Plus) FUL-1 45R&47B

FM-15E310B-LAS (UltraShift Plus) Thrushaft use AT mounting FUL-1 45R&47B

FO-14E308LL-VCS (UltraShift Plus) FUL-16 45R&47B

FO-14E309ALL-VMS (UltraShift Plus) FUL-17 45R&47B

FO-14E310C-LAS (UltraShift Plus) Thrushaft use AT mounting FUL-17 45R&47B

FO-14E313A-MHP (UltraShift Plus) FUL-17 45R&47B

FO-14E318B-MXP (UltraShift Plus) FUL-17 45R&47B

FO-14E318B-VXP (UltraShift Plus) FUL-17 45R&47B

FO-16D313E-LEP (UltraShift Plus) FUL-17 45R&47B

FO-16E308LL-VCS (UltraShift Plus) Thrushaft use BD mounting FUL-16 45R&47B

FO-16E309ALL-VM (UltraShift Plus) Thrushaft use BD mounting FUL-17 45R&47B

FO-16E310C-LAS (UltraShift Plus) Thrushaft use AT mounting FUL-17 45R&47B

FO-16E313A-MHP (UltraShift Plus) FUL-17 45R&47B

FO-16E318B-MXP (UltraShift Plus) FUL-17 45R&47B

FO-16E318B-VXP (UltraShift Plus) FUL-17 45R&47B

FO-17E308LL-VCS (UltraShift Plus)  45R&47B

FO-17E309LL-VM (UltraShift Plus) Thrushaft use BD mounting FUL-17 45R&47B

FO-18E310C-LAS (UltraShift Plus) FUL-17 45R&47B

FO-18E313A-MHP (UltraShift Plus) FUL-17 45R&47B

FO-18E318B-MXP (UltraShift Plus) FUL-17 45R&47B

FO-18E318B-VXP (UltraShift Plus) FUL-17 45R&47B

FO-20E313A-MHP (UltraShift Plus) FUL-17 45R&47B

FO-20E318B-MXP (UltraShift Plus) FUL-17 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             4

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

FO-20E318B-VXP  (UltraShift Plus) FUL-17 45R&47B

FO-22E318B-MXP (UltraShift Plus) FUL-17 45R&47B

FO-22E318B-VXP (UltraShift Plus) FUL-17 45R&47B

FO-5406B-DM3 FUL-35 48R&48L

FO-6406A-ASW FUL-35 48R&48L

FO-6406A-ASX FUL-35 48R&48L

FO-6406A-AW3 FUL-35 48R&48L

FO-6406B-DM3 FUL-35 48R&48L

FO-8406A-ASW FUL-35 48R&48L

FO-8406A-ASX FUL-35 48R&48L

FO-8406A-AW3 FUL-35 48R&48L

FO-8406B-DM3 FUL-35 48R&48L

FOM-14E310C-LAS (UltraShift Plus) Thrushaft use AT mounting FUL-17 45R&47B

FOM-15E310C-LAS  (UltraShift Plus) Thrushaft use AT mounting FUL-17 45R&47B

FOM-16D313E-LEP FUL-17 45R&47B

FOM-16E310C-LAS (UltraShift Plus) Thrushaft use AT mounting FUL-17 45R&47B

FR-11210B FUL-33 45R&47B

FR-12210B FUL-33 45R&47B

FR-13210B FUL-33 45R&47B

FR-14210B FUL-33 45R&47B

FR-15210B FUL-33 45R&47B

FR-16210B FUL-33 45R&47B

FR-9210 FUL-33 45R&47B

FR-9210B FUL-33 45R&47B

FRLO-14410C N/A 51R&51L

FRLO-14410C-T2 N/A 51R&51L

FRLO-15410C N/A 51R&51L

FRLO-15410C-T2 N/A 51R&51L

FRLO-16410C N/A 51R&51L

FRLO-16410C-T2 N/A 51R&51L

FRLO-18410C-T2 N/A 51R&51L

FRLO-XX410C-T2 (REAR COUNTER SHAFT) N/A N/A

FRM-15210B  Thrushaft use BJ mounting FUL-33 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             5

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

FRO-11210B FUL-34 45R&47B

FRO-11210C FUL-32 45R&47B

FRO-12210B FUL-34 45R&47B

FRO-12210C FUL-32 45R&47B

FRO-13210B FUL-34 45R&47B

FRO-13210C FUL-32 45R&47B

FRO-14210B FUL-34 45R&47B

FRO-14210C FUL-32 45R&47B

FRO-14210R FUL-32 45R&47B

FRO-15210B FUL-34 45R&47B

FRO-15210C FUL-32 45R&47B

FRO-15210R FUL-32 45R&47B

FRO-16210B FUL-34 45R&47B

FRO-16210C FUL-32 45R&47B

FRO-16210R FUL-32 45R&47B

FRO-17210C FUL-32 45R&47B

FRO-18210C FUL-32 45R&47B

FRO-9210B FUL-34 45R&47B

FROF-15210C FUL32 45R&47B

FROM-16D313E-LE (UltraShift Plus) FUL-17 45R&47B

FRW-15210B FUL-33 45R&47B

FS-3005A (1988 Model Year & Before) N/A 25R&25L

FS-3005A (1989 Model Year & After) FUL-38 28R&28L

FS-3005B (1988 Model & Before) N/A 25R&25L

FS-3005B (After Sept. 1988) N/A 28R&28L

FS-3005C N/A 29R&29L

FS-3205A FUL-38 28R&28L

FS-3205B FUL-39 28R&28L

FS-3205C N/A 29R&29L

FS-4005A (After Nov. 1987) FUL-38 28R&28L

FS-4005A (Before Nov. 1987) N/A 25R&25L

FS-4005B (1988 Model Year & Before) N/A 25R&25L

FS-4005B (1989 Model Year & After) N/A 28R&28L



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             6

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

FS-4005B (Serial # 86*******) FUL-39 28R&28L

FS-4005B (Serial#7AJ-1512 & After) FUL-39 28R&28L

FS-4005B (Serial#7AJ-1512 & Before) N/A 25R&25L

FS-4005B (Serial#7AS-648 & Before) N/A 25R&25L

FS-4005B (Serial#7AS-649 & After) FUL-39 28R&28L

FS-4005B (Serial#7AY-205 & After) FUL-39 28R&28L

FS-4005B (Serial#7BA-786 & Before) N/A 25R&25L

FS-4005B (Serial#7BA-787 & After) FUL-39 28R&28L

FS-4005C N/A 29R&29L

FS-4106A (FRONT OPENING) N/A 45R 

FS-4205A FUL-38 28R&28L

FS-4205B FUL-39 28R&28L

FS-4205C N/A 29R&29L

FS-5005A (TREMEC) FUL-24 33R&19L

FS-5005B FUL-25 33R&19L

FS-5005C FUL-26 30R&19L

FS-5005D (TREMEC) N/A 33R&19L

FS-5106A FUL-22 38R&38L

FS-5205A FUL-24 33R&19L

FS-5205B FUL-25 33R&19L

FS-5205C FUL-26 30R&19L

FS-5206A (FRONT OPENING) N/A 45R 

FS-5206B (FRONT OPENING) N/A 45L

FS-5296A FUL-22 38R&38L

FS-5306A FUL-22 38R&38L

FS-5406A FUL-22 38R&38L

FS5406N FUL-37 39R&39L

FS-5506 N/A 50R&50L

FS-6005A FUL-23 39R&39L

FS-6005B N/A 41R&41L

FS-6105A FUL-23 39R&39L

FS-6105B N/A 41R&41L

FS-6106 N/A 50R&50L



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             7

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

FS-6106A N/A 50R&50L

FS-6109A (Left Forward) N/A 32L

FS-6109A (Left Rear) N/A 23L

FS-6205A FUL-23 39R&39L

FS-6205B N/A 41R&41L

FS-6206A FUL-22 38R&38L

FS-6305A FUL-23 39R&39L

FS-6305B N/A 41R&41L

FS-6305N N/A N/A

FS-6306A FUL-22 38R&38L

FS-6306X FUL-22 38R&38L

FS6309A (Left Side Forward Opening) N/A 32L

FS6309A (Left Side Rear Opening) N/A 23L

FS-6406A FUL-22 38R&38L

FS-6406N FUL-37 39R&39L

FS-6406N-ASW FUL-37 39R&39L

FS-7206A N/A 50R&50L

FS-8206A N/A 50R&50L

FS-8209A (Australia) N/A 23L

FS-8209B (Overdrive Left Rear) N/A 23L

FS-8309A N/A 23L

FS-8406A N/A 50R&50L

FS-8406N-ASW FUL-37 39R&39L

FSB-5305D (Eaton Brazil) N/A 31R

FSB-5406B FUL-36 38R&38L

FSB-6406B FUL-36 38R&38L

FSBO-6406B FUL-35 48R&48L

FSBO-8406B FUL-35 48R&48L

FSM-5005E N/A 33R&33L

FSM-5005G NA 32R&32L

FSM-5005H N/A 33R&33L

FSM-5005J FUL-35 48R&48L

FSM-5305E N/A 33R&33L



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             8

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

FSM-5305G NA 32R&32L

FSM-5305H N/A 33R&33L

FSO-4305A (Same as CL-3905A) N/A 36R

FSO-4305B (Same as CL-3905B) N/A 36R

FSO-4305C (Same as CL-3905C) N/A 36R

FSO-4405A N/A 36R

FSO-4405B N/A 36R

FSO-4405C N/A 36R

FSO-5406A FUL-35 48R&48L

FSO-6109 (Left Forward) N/A 23L

FSO-6109 (Left Rear) N/A 23L

FSO-6109A N/A 23L

FSO-6406A (EATON BRAZIL) FUL-35 48R&48L

FSO-8209A N/A 23L

FSO-8406A (EATON BRAZIL) FUL-35 48R&48L

FTS-12316A N/A 47R&47B

FTS-16108LL (Eaton Europe/Brazil) Thrushaft use LG mounting N/A R58

FTS-16109A (Eaton Europe/Brazil) Thrushaft use AU mounting N/A R58

FTS-16109A (Eaton Europe/Brazil Countershaft) N/A

FTS-16112A (Eaton Europe/Brazil) Thrushaft use LH mounting N/A R62

FTS-18108LL (Eaton Europe/Brazil) Thrushaft use LG mounting N/A R58

FTS-18109A (Eaton Europe/Brazil) Thrushaft use AU mounting N/A R58

FTS-18109A (Eaton Europe/Brazil Countershaft) N/A

FTS-18112L (Eaton Europe/Brazil) Thrushaft use LH mounting N/A R62

FTS-20108LL (Eaton Europe/Brazil) Thrushaft use LG mounting N/A R58

FTS-20109A (Eaton Europe/Brazil) Thrushaft use AU mounting N/A R58

FTS-20109A (Eaton Europe/Brazil Countershaft) N/A

FTS-20112L (Eaton Europe/Brazil) Thrushaft use LH mounting N/A R62

FTSO-16108LL (Eaton Europe/Brazil) Thrushaft use LG mounting N/A R69

FTSO-16109A (Eaton Europe/Brazil) Thrushaft use AU mounting N/A R69

FTSO-16109A (Eaton Europe/Brazil Countershaft) N/A

FTSO-16112L (Eaton Europe/Brazil) Thrushaft use LH mounting N/A R69&B69

FTSO-18108LL (Eaton Europe/Brazil) Thrushaft use LG mounting N/A R69



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             9

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

FTSO-18109A (Eaton Europe/Brazil) Thrushaft use AU mounting N/A R69

FTSO-18109A (Eaton Europe/Brazil Countershaft) N/A

FTSO-18112L (Eaton Europe/Brazil) Thrushaft use LH mounting N/A R69&B69

FTSO-20108LL (Eaton Europe/Brazil) Thrushaft use LG mounting N/A R69

FTSO-20109A (Eaton Europe/Brazil) Thrushaft use AU mounting N/A R69

FTSO-20109A (Eaton Europe/Brazil Countershaft) N/A

FTSO-20112L (Eaton Europe/Brazil) Thrushaft use LH mounting N/A R69&B69

FTSO-22112L (Eaton Europe/Brazil) Thrushaft use LH mounting N/A R69&B69

H4106B (H is Horizontally Mounted) N/A 43L

RT0-13109B-AT FUL-31 45R&47B

RT-1110 FUL-1 45R&47B

RT-11109A-AT FUL-29 45R&47B

RT-11109A-ATE (Thrushaft option use AT mounting) FUL-29 45R&47B

RT-11109A-MAT FUL-29 45R&47B

RT-11209H FUL-33 45R&47B

RT-11210B FUL-33 45R&47B

RT-11509 FUL-1 45R&47B

RT-11608 FUL-20 45R&47B

RT-11609A (Thrushaft option use AT mounting) FUL-1 45R&47B

RT-11609H FUL-1 45R&47B

RT-11610 FUL-1 45R&47B

RT-11613 FUL-1 45R&47B

RT-11615 FUL-1 45R&47B

RT-11709A FUL-1 45R&47B

RT-11709H (Thrushaft option use AU mounting) FUL-1 45R&47B

RT-11710B (Thrushaft option use AU mounting) FUL-1 45R&47B

RT-11715 (Thrushaft option use BD mounting) FUL-1 45R&47B

RT-12109A-AT FUL-29 45R&47B

RT-12109A-MAT FUL-29 45R&47B

RT-12109Z-MAT FUL-29 45R&47B

RT-12209H FUL-33 45R&47B

RT-12210B FUL-33 45R&47B

RT-12509 FUL-1 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             10

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RT-12510 FUL-1 45R&47B

RT-12513 FUL-1 45R&47B

RT-12515 FUL-1 45R&47B

RT-12609A (Thrushaft option use AT mounting) FUL-1 45R&47B

RT-12609H FUL-1 45R&47B

RT-12610 FUL-1 45R&47B

RT-12709A FUL-1 45R&47B

RT-12709H (Thrushaft option use AU mounting) FUL-1 45R&47B

RT-12710B (Thrushaft option use AU mounting) FUL-1 45R&47B

RT-13109A-AT FUL-29 45R&47B

RT-13109A-ATE FUL-29 45R&47B

RT-13109A-ATE (Thrushaft use AT mounting) FUL-29 45R&47B

RT-13109A-MAT FUL-29 45R&47B

RT-13209H (Thrushaft option use AT mounting) FUL-1 45R&47B

RT-13210B FUL-33 45R&47B

RT-13609A (Thrushaft option use AT mounting) FUL-1 45R&47B

RT-13609H FUL-1 45R&47B

RT-13709H (Thrushaft option use AU mounting) FUL-1 45R&47B

RT-13710B (Thrushaft option use AU mounting) FUL-1 45R&47B

RT-14109A-AT FUL-29 45R&47B

RT-14109A-ATE FUL-29 45R&47B

RT-14109A-ATE (Thrushaft option use AU mounting) FUL-29 45R&47B

RT-14109A-MAT FUL-29 45R&47B

RT-14209H FUL-33 45R&47B

RT-14210H FUL-33 45R&47B

RT-14608 FUL-20 45R&47B

RT-14609A FUL-1 45R&47B

RT-14609H FUL-1 45R&47B

RT-14610 FUL-1 45R&47B

RT-14613 FUL-1 45R&47B

RT-14615 FUL-1 45R&47B

RT-14708LL FUL-20 45R&47B

RT-14709A FUL-1 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             11

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RT-14709H (Thrushaft option use AU mounting) FUL-1 45R&47B

RT-14710B (Thrushaft option use AU mounting) FUL-1 45R&47B

RT-14710B-AS2 & AS3 FUL-1 45R&47B

RT-14715 (Thrushaft option use BD mounting) FUL-1 45R&47B

RT-14910B-AS2 & AS3 FUL-1 45R&47B

RT-14915 FUL-1 45R&47B

RT-15613 FUL-1 45R&47B

RT-15615 FUL-1 45R&47B

RT-15715 FUL-1 45R&47B

RT-16109A-AT FUL-29 45R&47B

RT-16109A-ATE FUL-29 45R&47B

RT-16109A-ATE (Thrushaft option use AU mounting) FUL-29 45R&47B

RT-510 FUL-7 33R&33B

RT-610 FUL-7 33R&33B

RT-613 FUL-7 33R&33B

RT-6609A FUL-21 33R&33B

RT-6610 FUL-7 33R&33B

RT-6613 FUL-7 33R&33B

RT-7608LL FUL-21 33R&33B

RT-7609 (ENGLAND) FUL-7 33R&33B

RT-7613 (ENGLAND) FUL-7 33R&33B

RT-8606L FUL-20 45R&47B

RT-8608L FUL-20 45R&47B

RT-8609 FUL-21 33R&33B

RT-8609A FUL-21 33R&33B

RT-8709B FUL-1 45R&47B

RT-8908LL FUL-1 45R&47B

RT-906 FUL-1 45R&47B

RT-906A FUL-1 45R&47B

RT-909 FUL-1 45R&47B

RT-909A FUL-1 45R&47B

RT-910 FUL-1 45R&47B

RT-9109A-AT FUL-29 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             12

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RT-9109A-MAT FUL-29 45R&47B

RT-915 FUL-1 45R&47B

RT-9508 FUL-20 45R&47B

RT-9509A FUL-1 45R&47B

RT-9509C (ENGLAND) FUL-1 45R&47B

RT-9513 FUL-1 45R&47B

RT-9710B (Thrushaft option use AU mounting) FUL-1 45R&47B

RTA-13709H FUL-1 45R&47B

RTA-14710B-AS FULL-1 45R&47B

RTAO-10710B -AC FUL-16 45R&47B

RTAO-10710B-AS FUL-16 45R&47B

RTAO-10710C-AC FUL-17 45R&47B

RTAO-10710C-AS FUL-17 45R&47B

RTAO-12710A FUL-16 45R&47B

RTAO-12710B FUL-16 45R&47B

RTAO-12710B-AC FUL-16 45R&47B

RTAO-12710B-AS FUL-16 45R&47B

RTAO-12710C FUL-16 45R&47B

RTAO-12710C-AC FUL-17 45R&47B

RTAO-12710C-AS FUL-17 45R&47B

RTAO-14710B-AC FUL-16 45R&47B

RTAO-14710B-AS FUL-16 45R&47B

RTAO-14710C-AC FUL-17 45R&47B

RTAO-14710C-AS FUL-17 45R&47B

RTAO-16710B-AC FUL-16 45R&47B

RTAO-16710B-AC (AUSTRALIA) FUL-16 45R&47B

RTAO-16710B-AS FUL-16 45R&47B

RTAO-16710C-AC FUL-17 45R&47B

RTAO-16710C-AS FUL-17 45R&47B

RTF-11609A FUL-1 45R&47B

RTF-12609A FUL-1 45R&47B

RTF-12709H FUL-1 45R&47B

RTF-12710B FUL-1 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             13

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTF-13609A FUL-1 45R&47B

RTF-13710B FUL-1 45R&47B

RTF-14609A FUL-1 45R&47B

RTF-14709H FUL-1 45R&47B

RTF-14710B FUL-1 45R&47B

RTF-14715 FUL-1 45R&47B

RTF-14915 FUL-1 45R&47B

RTF-15715 FUL-1 45R&47B

RTF-8709A (AUSTRALIA MODEL) FUL-1 45R&47B

RTF-8908LL (AUSTRALIA) FUL-1 45R&47B

RTF-906 FUL-1 45R&47B

RTF-906A FUL-1 45R&47B

RTF-909 FUL-1 45R&47B

RTF-909A FUL-1 45R&47B

RTF-910 FUL-1 45R&47B

RTF-915 FUL-1 45R&47B

RTL-11710B FUL-1 45R&47B

RTL-11710B-T2 FUL-1 45R&47B

RTL-12710B FUL-1 45R&47B

RTL-12710B-T2 FUL-1 45R&47B

RTL-13710B (T2) FUL-1 45R&47B

RTL-14710B (T2) FUL-1 45R&47B

RTLC-16609A FUL-17 45R&47B

RTLC-16613A FUL-17 45R&47B

RTLO-11610B FUL-1 45R&47B

RTLO-11610B-T2 FUL-1 45R&47B

RTLO-12610B FUL-1 45R&47B

RTLO-12610B-T2 FUL-1 45R&47B

RTLO-12613B FUL-1 45R&47B

RTLO-12713A FUL-17 45R&47B

RTLO-12913A (AUSTRALIA) FUL-17 45R&47B

RTLO-13118-AMT FUL-17 45R&47B

RTLO-13610B FUL-1 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             14

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTLO-13610B-T2 (AS) FUL-1 45R&47B

RTLO-14610A FUL-1 45R&47B

RTLO-14610B FUL-1 45R&47B

RTLO-14610B-T2 FUL-1 45R&47B

RTLO-14613A FUL-1 45R&47B

RTLO-14613B FUL-1 45R&47B

RTLO-14618A FUL-1 45R&47B

RTLO-14713A FUL-1 45R&47B

RTLO-14713A-T2 FUL-17 45R&47B

RTLO-14718B FUL-17 45R&47B

RTLO-14718B-T2 FUL-17 45R&47B

RTLO-14913A  (AUSTRALIA) FUL-17 45R&47B

RTLO-14913-T2 (AUSTRALIA) FUL-17 45R&47B

RTLO-14918A-AS2 & AS3 FUL-17 45R&47B

RTLO-14918B FUL-17 45R&47B

RTLO-14918B-AS FUL-17 45R&47B

RTLO-15610B FUL-1 45R&47B

RTLO-15610B-T2 FUL-1 45R&47B

RTLO-16610B FUL-1 45R&47B

RTLO-16610B-T2 FUL-1 45R&47B

RTLO-16618A FUL-1 45R&47B

RTLO-16713A FUL-17 45R&47B

RTLO-16713A-MT FUL-17 45R&47B

RTLO-16713A-T2 FUL-17 45R&47B

RTLO-16718B FUL-17 45R&47B

RTLO-16718B-T2 FUL-17 45R&47B

RTLO-16909ALL FUL-17 45R&47B

RTLO-16913A (AUSTRALIA) FUL-17 45R&47B

RTLO-16913A(T2) (AUSTRALIA) FUL-17 45R&47B

RTLO-16913L-DM3 FUL-17 45R&47B

RTLO-16918A-AS2 & AS3 FUL-17 45R&47B

RTLO-16918B FUL-17 45R&47B

RTLO-16918B (T2) FUL-17 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             15

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTLO-16918B-AS FUL-17 45R&47B

RTLO-17610B FUL-1 45R&47B

RTLO-17610B-T2 FUL-1 45R&47B

RTLO-18610B FUL-1 45R&47B

RTLO-18610B-T2 FUL-1 45R&47B

RTLO-18718B FUL-17 45R&47B

RTLO-18718B-T2 FUL-17 45R&47B

RTLO-18913A FUL-17 45R&47B

RTLO-18913A-T2 FUL-17 45R&47B

RTLO-18918A-AS2 & AS3 FUL-17 45R&47B

RTLO-18918-AS FUL-17 45R&47B

RTLO-18918B FUL-17 45R&47B

RTLO-18918B-AS FUL-17 45R&47B

RTLO-18918B-T2 FUL-17 45R&47B

RTLO-19610B FUL-3 45R&47B

RTLO-20718B (T2) FUL-17 45R&47B

RTLO-20913A FUL-17 45R&47B

RTLO-20918A-AS2 & AS3 FUL-17 45R&47B

RTLO-20918B FUL-17 45R&47B

RTLO-20918B-AS (T2) FUL-17 45R&47B

RTLO-22918A-AS2 & AS3 FUL-17 45R&47B

RTLO-22918B FUL-17 45R&47B

RTLO-22918B (AS) FUL-17 45R&47B

RTLO-9118A-MT FUL-1 45R&47B

RTLOC-16909A-T2 (Convertible 9 to 13 Speed) FUL-17 45R&47B

RTLOFC-16909A (T2) FUL-17 45R&47B

RTLOM-16913L-DM3 FUL-17 45R&47B

RTO-10710B-AS FUL-16 45R&47B

RTO-10710B-AS2 & AS3 FUL-16 45R&47B

RTO-10910B-AS2 & AS3 FUL-16 45R&47B

RTO-10910B-DM2 (Ultra Shift) FUL-16 45R&47B

RTO-10910B-DM3 FUL-16 45R&47B

RTO-1110 FUL-18 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             16

Orbital Motors
Offering high quality repair services on 
a variety of servo motors.

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTO-11109A-AT FUL-30 45R&47B

RTO-11109A-ATE FUL-30 45R&47B

RTO-11109A-ATE (Thrushaft option use AT mounting) FUL-30 45R&47B

RTO-11109A-MAT FUL-30 45R&47B

RTO-11109B-AT FUL-31 45R&47B

RTO-11109B-ATE FUL-31 45R&47B

RTO-11109B-ATE (Thrushaft use AT mounting)  FUL-31 45R&47B

RTO-11109B-MAT FUL-31 45R&47B

RTO-11209B FUL-34 45R&47B

RTO-11209H FUL-34 45R&47B

RTO-11210B FUL-34 45R&47B

RTO-11210C FUL-32 45R&47B

RTO-11210R FUL-32 45R&47B

RTO-11509 FUL-1 45R&47B

RTO-1157DL FUL-5 45R&47B

RTO-1157DLL FUL-5 45R&47B

RTO-11607L FUL-5 45R&47B

RTO-11607LL FUL-5 45R&47B

RTO-11608LL FUL-16 45R&47B

RTO-11609A (Thrushaft option use AT mounting) FUL-16 45R&47B

RTO-11609B (Thrushaft option use AT mounting) FUL-17 45R&47B

RTO-11609H FUL-17 45R&47B

RTO-11609P (Thrushaft option use AT mounting) FUL-16 45R&47B

RTO-11609R FUL-16 45R&47B

RTO-11610 FUL-18 45R&47B

RTO-11613 FUL-1 45R&47B

RTO-11615 FUL-18 45R&47B

RTO-11707DLL FUL-5 45R&47B

RTO-11707LL FUL-5 45R&47B

RTO-11708LL (Thrushaft option use BD mounting) FUL-16 45R&47B

RTO-11709A FUL-16 45R&47B

RTO-11709B FUL-17 45R&47B

RTO-11709H (Thrushaft option use AU mounting) FUL-17 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             17

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTO-11709MLL FUL-17 45R&47B

RTO-11710B FUL-16 45R&47B

RTO-11710C FUL-17 45R&47B

RTO-11715 (Thrushaft option use BD mounting) FUL-18 45R&47B

RTO-11813 FUL-1 45R&47B

RTO-11908LL FUL-16 45R&47B

RTO-11909ALL FUL-17 45R&47B

RTO-11909MLL FUL-17 45R&47B

RTO-12109A-AT (ATE) FUL-30 45R&47B

RTO-12109A-MAT (AT) (ATE) FUL-30 45R&47B

RTO-12109B-AT FUL-31 45R&47B

RTO-12109B-AT (ATE) Engine Driven Opening N/A 66L

RTO-1213 FUL-1 45R&47B

RTO-12209B FUL-34 45R&47B

RTO-12209H FUL-34 45R&47B

RTO-12210B FUL-34 45R&47B

RTO-12210C FUL-32 45R&47B

RTO-12210R FUL-32 45R&47B

RTO-12509 FUL-16 45R&47B

RTO-12510 FUL-18 45R&47B

RTO-12513 FUL-1 45R&47B

RTO-12515 FUL-18 45R&47B

RTO-1258LL FUL-16 45R&47B

RTO-12609A (Thrushaft option use AT mounting) FUL-16 45R&47B

RTO-12609B (Thrushaft option use AT mounting) FUL-17 45R&47B

RTO-12609H FUL-17 45R&47B

RTO-12609P (Thrushaft option use AT mounting) FUL-16 45R&47B

RTO-12609R (Thrushaft option use AT mounting) FUL-16 45R&47B

RTO-12610 FUL-18 45R&47B

RTO-12610C FUL-17 45R&47B

RTO-12709A FUL-17 45R&47B

RTO-12709B FUL-17 45R&47B

RTO-12709H (Thrushaft option use AU mounting) FUL-17 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             18

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTO-12710B FUL-16 45R&47B

RTO-12710B-AS2 & AS3 FUL-16 45R&47B

RTO-12710C FUL-17 45R&47B

RTO-12910B-AS2 & AS3 FUL-16 45R&47B

RTO-12910B-DM2 & DM3 (UltraShift) FUL-16 45R&47B

RTO-13109A-AT (ATE) Engine Driven Opening FUL-30 45R&47B

RTO-13109A-AT (ATE) Engine Driven Opening N/A 66L

RTO-13109A-MAT FUL-30 45R&47B

RTO-13109B-AT (ATE) Engine Driven Opening N/A 66L

RTO-13109B-AT(ATE) FUL-30 45R&47B

RTO-13109B-ATE FUL-31 45R&47B

RTO-13109B-ATE (Thrushaft option use AT mounting) FUL-31 45R&47B

RTO-13109B-MAT FUL-31 45R&47B

RTO-13209H FUL-34 45R&47B

RTO-13210B FUL-34 45R&47B

RTO-13210C FUL-32 45R&47B

RTO-13210R FUL-32 45R&47B

RTO-13609A (Thrushaft option use AT mounting) FUL-16 45R&47B

RTO-13609B (Thrushaft option use AT mounting) FUL-17 45R&47B

RTO-13609H FUL-17 45R&47B

RTO-13609P (Thrushaft option use AT mounting) FUL-16 45R&47B

RTO-13609R (Thrushaft option use AT mounting) FUL-16 45R&47B

RTO-13707DLL FUL-5 45R&47B

RTO-13707MLL FUL-5 45R&47B

RTO-13709H (Thrushaft option use AU mounting) FUL-17 45R&47B

RTO-13710B FUL-16 45R&47B

RTO-13710C FUL-17 45R&47B

RTO-14109A-(ATE) FUL-30 45R&47B

RTO-14109A-(ATE) (Thrushaft option use AU mounting) FUL-30 45R&47B

RTO-14109A-AT FUL-30 45R&47B

RTO-14109A-AT (ATE) Engine Driven Opening FUL-30 45R&47B

RTO-14109A-MAT FUL-30 45R&47B

RTO-14109B-AT FUL-31 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             19

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTO-14109B-ATE  FUL-31 45R&47B

RTO-14109B-ATE (Thrushaft option use AU mounting) FUL-31 45R&47B

RTO-14109B-MAT FUL-31 45R&47B

RTO-14209B FUL-34 45R&47B

RTO-14209H FUL-34 45R&47B

RTO-14210B FUL-34 45R&47B

RTO-14210C FUL-32 45R&47B

RTO-14210C (Thrushaft option use BJ mounting) FUL-32 45R&47B

RTO-14210R FUL-32 45R&47B

RTO-14607LL FUL-5 45R&47B

RTO-14608LL FUL-16 45R&47B

RTO-14609A FUL-16 45R&47B

RTO-14609B  (Thrushaft option use AU mounting) FUL-17 45R&47B

RTO-14609H FUL-17 45R&47B

RTO-14609LL FUL-16 45R&47B

RTO-14609P (Thrushaft option use AU mounting) FUL-16 45R&47B

RTO-14609R FUL-16 45R&47B

RTO-14610 FUL-18 45R&47B

RTO-14610C FUL-17 45R&47B

RTO-14613 FUL-1 45R&47B

RTO-14615 FUL-18 45R&47B

RTO-14618 FUL-1 45R&47B

RTO-14708LL (Thrushaft option use BD mounting) FUL-16 45R&47B

RTO-14709A FUL-16 45R&47B

RTO-14709B FUL-17 45R&47B

RTO-14709H (Thrushaft option use AU mounting) FUL-17 45R&47B

RTO-14709LL FUL-17 45R&47B

RTO-14709MLL FUL-17 45R&47B

RTO-14710B FUL-16 45R&47B

RTO-14710B-AS2 & AS3 FUL-16 45R&47B

RTO-14710C FUL-17 45R&47B

RTO-14710C-AS2 & AS3 FUL-17 45R&47B

RTO-14713 FUL-1 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             20

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTO-14715 (Thrushaft option use BD mounting) FUL-18 45R&47B

RTO-14813 FUL-1 45R&47B

RTO-14908ALL FUL-17 45R&47B

RTO-14908LL FUL-16 45R&47B

RTO-14909ALL FUL-17 45R&47B

RTO-14909ALL FUL-17 45R&47B

RTO-14909MLL FUL-17 45R&47B

RTO-14910B-AS2 & AS3 FUL-16 45R&47B

RTO-14910B-DM2 & DM3  (UltraShift) FUL-16 45R&47B

RTO-14910C-AS2 & AS3 FUL-17 45R&47B

RTO-14915 FUL-18 45R&47B

RTO-15210B FUL-34 45R&47B

RTO-15210C FUL-32 45R&47B

RTO-15210C (Thrushaft option use BJ mounting) FUL-32 45R&47B

RTO-15613 FUL-1 45R&47B

RTO-15615 FUL-18 45R&47B

RTO-15618 FUL-1 45R&47B

RTO-15708LL FUL-16 45R&47B

RTO-15710B FUL-16 45R&47B

RTO-15710B FUL-16 45R&47B

RTO-15710C FUL-17 45R&47B

RTO-15715 FUL-18 45R&47B

RTO-15813 FUL-1 45R&47B

RTO-16109A-AT FUL-30 45R&47B

RTO-16109A-ATE FUL-30 45R&47B

RTO-16109A-ATE (Thrushaft option use AU mounting) FUL-30 45R&47B

RTO-16109B-AT FUL-31 45R&47B

RTO-16109B-ATE (Thrushaft option use AU mounting) FUL-31 45R&47B

RTO-16210B FUL-34 45R&47B

RTO-16210C FUL-32 45R&47B

RTO-16210C  (Thrushaft option use BJ mounting) FUL-32 45R&47B

RTO-16709B FUL-17 45R&47B

RTO-16709H FUL-17 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             21

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTO-16710B FUL-16 45R&47B

RTO-16710B-AS2 & AS3 FUL-16 45R&47B

RTO-16710C FUL-17 45R&47B

RTO-16710C-AS2 & AS3 FUL-17 45R&47B

RTO-16715 FUL-18 45R&47B

RTO-16908LL FUL-16 45R&47B

RTO-16909ALL FUL-17 45R&47B

RTO-16910B-AS FUL-16 45R&47B

RTO-16910B-AS2 & AS3 FUL-16 45R&47B

RTO-16910B-DM2 & DM3 (UltraShift) FUL-16 45R&47B

RTO-16910C-AS2 & AS3 FUL-17 45R&47B

RTO-16915 FUL-18 45R&47B

RTO-18910B-AS2 & AS3 FUL-17 45R&47B

RTO-510 FUL-8 33R&33B

RTO-609 FUL-8 33R&33B

RTO-610 FUL-8 33R&33B

RTO-613 FUL-8 33R&33B

RTO-6610 FUL-8 33R&33B

RTO-6613 FUL-8 33R&33B

RTO-7613 FUL-7 33R&33B

RTO-909A FUL-16 45R&47B

RTO-909B FUL-17 45R&47B

RTO-910 FUL-2 45R&47B

RTO-9109A-AT FUL-30 45R&47B

RTO-9109A-MAT (AUTOMATIC) FUL-30 45R&47B

RTO-9109B-AT FUL-31 45R&47B

RTO-9109B-MAT FUL-31 45R&47B

RTO-913 FUL-1 45R&47B

RTO-913A FUL-1 45R&47B

RTO-915 FUL-2 45R&47B

RTO-9508LL FUL-16 45R&47B

RTO-9509A FUL-16 45R&47B

RTO-9509B FUL-17 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             22

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTO-9513 FUL-1 45R&47B

RTO-958LL FUL-16 45R&47B

RTOC-16909A (Convertible 9 to 13 Speed) FUL-17 45R&47B

RTOC-16913A FUL-17 45R&47B

RTOF-12913A (AUSTRALIA) FUL-17 45R&47B

RTOF-909A FUL-16 45R&47B

RTOF-909B FUL-17 45R&47B

RTOF-910 FUL-2 45R&47B

RTOF-915 FUL-2 45R&47B

RTOF-9513 FUL-1 45R&47B

RTOM16910B-DM3 FUL-16 45R&47B

RTOO-11613 FUL-17 45R&47B

RTOO-11707LL FUL-5 45R&47B

RTOO-14613 FUL-17 45R&47B

RTOO-913 FUL-15 45R&47B

RTOO-9513 FUL-17 45R&47B

RTOOF-913 FUL-15 45R&47B

RTS-12316 N/A 47R&47B

RTS-17316 N/A 47R&47B

RTS-17316A N/A 47R&47B

RTSO-12316 N/A 47R&47B

RTSO-12316A N/A 47R&47B

RTSO-17316 N/A 47R&47B

RTSO-17316A N/A 47R&47B

RTX-11609A FUL-16 45R&47B

RTX-11609B FUL-17 45R&47B

RTX-11609P FUL-16 45R&47B

RTX-11609R (Thrushaft option use AT mounting) FUL-16 45R&47B

RTX-11708LL FUL-16 45R&47B

RTX-11709H FUL-17 45R&47B

RTX-11710B (Thrushaft option use AU mounting) FUL-16 45R&47B

RTX-11710C (Thrushaft option use AU mounting) FUL-17 45R&47B

RTX-12609B (Thrushaft option use AT mounting) FUL-17 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             23

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

RTX-12609P FUL-16 45R&47B

RTX-12609R FUL-16 45R&47B

RTX-12709H FUL-17 45R&47B

RTX-12710B (Thrushaft option use AU mounting) FUL-16 45R&47B

RTX-12710C (Thrushaft option use AU mounting) FUL-17 45R&47B

RTX-13609B  FUL-17 45R&47B

RTX-13609B (Thrushaft option use AT mounting) FUL-17 45R&47B

RTX-13609P FUL-16 45R&47B

RTX-13609R FUL-16 45R&47B

RTX-13709H FUL-17 45R&47B

RTX-13710B FUL-16 45R&47B

RTX-13710C (Thrushaft option use AU mounting) FUL-17 45R&47B

RTX-14609A FUL-16 45R&47B

RTX-14609B FUL-17 45R&47B

RTX-14609P FUL-16 45R&47B

RTX-14609R (Thrushaft option use AU mounting) FUL-16 45R&47B

RTX-14708LL FUL-16 45R&47B

RTX-14709H FUL-17 45R&47B

RTX-14710B (Thrushaft option use AU mounting) FUL-16 45R&47B

RTX-14710C (Thrushaft option use AU mounting) FUL-17 45R&47B

RTX-14715 FUL-18 45R&47B

RTX-15710B FUL-16 45R&47B

RTX-15710C FUL-17 45R&47B

RTX-15715 FUL-18 45R&47B

RTX-16709B FUL-17 45R&47B

RTX-16709H FUL-17 45R&47B

RTX-16710B FUL-16 45R&47B

RTX-16710C FUL-17 45R&47B

RTX-16710X FUL-17 45R&47B

RTX-510 FUL-8 33R&33B

T-1050A N/A 47R&47B

T-1056A N/A 47R&47B

T-1056AA N/A 47R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             24

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

T-11605A FUL-3 45R&47B

T-11605B FUL-4 45R&47B

T-11605C FUL-9 45R&47B

T-11605D FUL-11 45R&47B

T-11605F FUL-9 45R&47B

T-11605M FUL-11 45R&47B

T-11606 N/A 78R&78L

T-11607 N/A 78R&78L

T-11607A N/A 78R&78L

T-11607B N/A 78R&78L

T-14607A FUL-27 78R&78L

T-14607B FUL-27 78R&78L

T-8607A N/A 78R&78L

T-8607B N/A 78R&78L

T-905A FUL-3 45R&47B

T-905B FUL-4 45R&47B

T-905C FUL-9 45R&47B

T-905D FUL-11 45R&47B

T-905E FUL-2 45R&47B

T-905F FUL-13 45R&47B

T-905G FUL-1 45R&47B

T-905H FUL-3 45R&47B

T-905J FUL-10 45R&47B

T-905M FUL-11 45R&47B

T-905P FUL-3 45R&47B

T-955AL FUL-3 45R&47B

T-955ALL FUL-3 45R&47B

T-955GL FUL-1 45R&47B

TA-4510 FUL-1 45R&47B

TA-7610 FUL-1 45R&47B

TO-11605A FUL-5 45R&47B

TO-11605B FUL-6 45R&47B

TO-11605C FUL-10 45R&47B



PTO Applications

EATON/FULLER TRANSMISSION INDEX

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             25

TRANSMISSION MAKE & MODEL PTO APPLICATION 
NUMBER

TEETH IN PTO 
DRIVER

TO-11605D FUL-12 45R&47B

TO-14607B-ASX FUL-27 78R&78B

TO-905A FUL-5 45R&47B

TO-905B FUL-6 45R&47B

TO-905C FUL-10 45R&47B

TO-905D FUL-5 45R&47B

TO-955AL FUL-5 45R&47B

TO-955ALL FUL-5 45R&47B

TO-955DLL FUL-5 45R&47B

TO-955LL FUL-16 45R&47B

TS-11612A N/A 78R&78L

TS-12612A N/A 78R&78L

TS-13612A N/A 78R&78L

TS-15612A N/A 78R&78L

TS-16612A N/A 78R&78L

TSO-11612A N/A 78R&78L

TSO-12612A N/A 78R&78L

TSO-13612A N/A 78R&78L

TSO-15612A N/A 78R&78L

TSO-16612A N/A 78R&78L

TX-1407B FUL-28 78R&78B

TX-14607B FUL-28 78R&78L

TX-8607B FUL-27 78R&78B



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             26

FULL-1
TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 79  Included 250 49 5
MH6SC01X(1)1(2) OPP 105  Included 250 49 5
MH6SE01X(1)1(2) OPP 125  Included 225 44 5
MH6SJ01X(1)1(2) OPP 137  Included 225 44 5
MH6SO01X(1)1(2) OPP 179  Included 200 39 5
MH6SR01X(1)1(2) OPP 196  Included 200 39 5
MH6SS01X(1)1(2) OPP 215  Included 190 37 5
MH6ST01X(1)1(2) OPP 236  Included 175 34 5

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 75  Included 250 49 5
MH8SB01X(1)1(2) OPP 82  Included 250 49 5
MH8SC01X(1)1(2) OPP 109  Included 250 49 5
MH8SE01X(1)1(2) OPP 131  Included 225 44 5
MH8SJ01X(1)1(2) OPP 143  Included 225 44 5
MH8SO01X(1)1(2) OPP 187  Included 200 39 5
MH8SR01X(1)1(2) OPP 205  Included 200 39 5
MH8SS01X(1)1(2) OPP 224  Included 190 37 5
MH8ST01X(1)1(2) OPP 246   Included 175 34 5



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             27

FULL-1

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 82   Included 505 95 5
MHD8SC01X(3)3(4) OPP 101   Included 505 95 5
MHD8SE01X(3)3(4) OPP 123   Included 505 95 5
MHD8SJ01X(3)3(4) OPP 150   Included 405 95 5
MHD8SO01X(3)3(4) OPP 182   Included 355 95 5

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             28

FULL-2
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 97  Included 250 49  
MH6SC01X(1)1(2) OPP 129  Included 250 49  
MH6SE01X(1)1(2) OPP 155  Included 225 44  
MH6SJ01X(1)1(2) OPP 169  Included 225 44  
MH6SO01X(1)1(2) OPP 221  Included 200 39  
MH6SR01X(1)1(2) OPP 242  Included 200 39  
MH6SS01X(1)1(2) OPP 265  Included 190 37  
MH6ST01X(1)1(2) OPP 291  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 92  Included 250 49  
MH8SB01X(1)1(2) OPP 102  Included 250 49  
MH8SC01X(1)1(2) OPP 135  Included 250 49  
MH8SE01X(1)1(2) OPP 162  Included 225 44  
MH8SJ01X(1)1(2) OPP 177  Included 225 44  
MH8SO01X(1)1(2) OPP 231  Included 200 39  
MH8SR01X(1)1(2) OPP 253  Included 200 39  
MH8SS01X(1)1(2) OPP 277  Included 190 37  
MH8ST01X(1)1(2) OPP 304   Included 175 34  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             29

FULL-2

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 106   Included 505 95
MHD8SC01X(3)3(4) OPP 131   Included 505 95
MHD8SE01X(3)3(4) OPP 159   Included 505 95
MHD8SJ01X(3)3(4) OPP 194   Included 405 95
MHD8SO01X(3)3(4) OPP 235   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             30

FULL-3
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 79  Included 250 49  
MH6SC01X(1)1(2) OPP 105  Included 250 49  
MH6SE01X(1)1(2) OPP 125  Included 225 44  
MH6SJ01X(1)1(2) OPP 137  Included 225 44  
MH6SO01X(1)1(2) OPP 179  Included 200 39  
MH6SR01X(1)1(2) OPP 196  Included 200 39  
MH6SS01X(1)1(2) OPP 215  Included 190 37  
MH6ST01X(1)1(2) OPP 236  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 75  Included 250 49  
MH8SB01X(1)1(2) OPP 82  Included 250 49  
MH8SC01X(1)1(2) OPP 109  Included 250 49  
MH8SE01X(1)1(2) OPP 131  Included 225 44  
MH8SJ01X(1)1(2) OPP 143  Included 225 44  
MH8SO01X(1)1(2) OPP 187  Included 200 39  
MH8SR01X(1)1(2) OPP 205  Included 200 39  
MH8SS01X(1)1(2) OPP 224  Included 190 37  
MH8ST01X(1)1(2) OPP 246   Included 175 34  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             31

FULL-3

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 86   Included 505 95
MHD8SC01X(3)3(4) OPP 106   Included 505 95
MHD8SE01X(3)3(4) OPP 129   Included 505 95
MHD8SJ01X(3)3(4) OPP 157   Included 405 95
MHD8SO01X(3)3(4) OPP 190   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             32

FULL-4
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 60  Included 250 49  
MH6SC01X(1)1(2) OPP 80  Included 250 49  
MH6SE01X(1)1(2) OPP 95  Included 225 44  
MH6SJ01X(1)1(2) OPP 104  Included 225 44  
MH6SO01X(1)1(2) OPP 136  Included 200 39  
MH6SR01X(1)1(2) OPP 149  Included 200 39  
MH6SS01X(1)1(2) OPP 164  Included 190 37  
MH6ST01X(1)1(2) OPP 180  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 57  Included 250 49  
MH8SB01X(1)1(2) OPP 63  Included 250 49  
MH8SC01X(1)1(2) OPP 83  Included 250 49  
MH8SE01X(1)1(2) OPP 100  Included 225 44  
MH8SJ01X(1)1(2) OPP 109  Included 225 44  
MH8SO01X(1)1(2) OPP 142  Included 200 39  
MH8SR01X(1)1(2) OPP 156  Included 200 39  
MH8SS01X(1)1(2) OPP 171  Included 190 37  
MH8ST01X(1)1(2) OPP 188   Included 175 34  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             33

FULL-4

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 66   Included 505 95
MHD8SC01X(3)3(4) OPP 81   Included 505 95
MHD8SE01X(3)3(4) OPP 98   Included 505 95
MHD8SJ01X(3)3(4) OPP 120   Included 405 95
MHD8SO01X(3)3(4) OPP 145   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             34

FULL-5
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 92  Included 250 49  
MH6SC01X(1)1(2) OPP 123  Included 250 49  
MH6SE01X(1)1(2) OPP 147  Included 225 44  
MH6SJ01X(1)1(2) OPP 161  Included 225 44  
MH6SO01X(1)1(2) OPP 210  Included 200 39  
MH6SR01X(1)1(2) OPP 230  Included 200 39  
MH6SS01X(1)1(2) OPP 252  Included 190 37  
MH6ST01X(1)1(2) OPP 277  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 88  Included 250 49  
MH8SB01X(1)1(2) OPP 96  Included 250 49  
MH8SC01X(1)1(2) OPP 128  Included 250 49  
MH8SE01X(1)1(2) OPP 153  Included 225 44  
MH8SJ01X(1)1(2) OPP 168  Included 225 44  
MH8SO01X(1)1(2) OPP 219  Included 200 39  
MH8SR01X(1)1(2) OPP 240  Included 200 39  
MH8SS01X(1)1(2) OPP 263  Included 190 37  
MH8ST01X(1)1(2) OPP 289   Included 175 34  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             35

FULL-5

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 101   Included 505 95
MHD8SC01X(3)3(4) OPP 124   Included 505 95
MHD8SE01X(3)3(4) OPP 151   Included 505 95
MHD8SJ01X(3)3(4) OPP 184   Included 405 95
MHD8SO01X(3)3(4) OPP 223   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             36

FULL-6
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 70  Included 250 49  
MH6SC01X(1)1(2) OPP 92  Included 250 49  
MH6SE01X(1)1(2) OPP 111  Included 225 44  
MH6SJ01X(1)1(2) OPP 121  Included 225 44  
MH6SO01X(1)1(2) OPP 158  Included 200 39  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 66  Included 250 49  
MH8SB01X(1)1(2) OPP 73  Included 250 49  
MH8SC01X(1)1(2) OPP 97  Included 250 49  
MH8SE01X(1)1(2) OPP 116  Included 225 44  
MH8SJ01X(1)1(2) OPP 126  Included 225 44  
MH8SO01X(1)1(2) OPP 165  Included 200 39  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             37

FULL-6

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 76   Included 505 95
MHD8SC01X(3)3(4) OPP 94   Included 505 95
MHD8SE01X(3)3(4) OPP 114   Included 505 95
MHD8SJ01X(3)3(4) OPP 139   Included 405 95
MHD8SO01X(3)3(4) OPP 168   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             38

FULL-7
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Rear of Centerline L.H. 8- Bolt Opening - Gear Rear of Centerline
33 TEETH - SPUR 33 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)4(2) OPP 60  Included 250 49  
MH6SC01X(1)4(2) OPP 80  Included 250 49  
MH6SE01X(1)4(2) OPP 96  Included 225 44  
MH6SJ01X(1)4(2) OPP 105  Included 225 44  
MH6SO01X(1)4(2) OPP 137  Included 200 39  
MH6SR01X(1)4(2) OPP 150  Included 200 39  
MH6SS01X(1)4(2) OPP 165  Included 190 37  
MH6ST01X(1)4(2) OPP 181  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SB01X(1)4(2) OPP 60  Included 250 49  
MH8SC01X(1)4(2) OPP 80  Included 250 49  
MH8SE01X(1)4(2) OPP 96  Included 225 44  
MH8SJ01X(1)4(2) OPP 105  Included 225 44  
MH8SO01X(1)4(2) OPP 137  Included 200 39  
MH8SR01X(1)4(2) OPP 150  Included 200 39  
MH8SS01X(1)4(2) OPP 165  Included 190 37  
MH8ST01X(1)4(2) OPP 181   Included 175 34  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             39

FULL-8
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Rear of Centerline L.H. 8- Bolt Opening - Gear Rear of Centerline
33 TEETH - SPUR 33 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)4(2) OPP 78  Included 250 49  
MH6SC01X(1)4(2) OPP 99  Included 250 49  
MH6SE01X(1)4(2) OPP 106  Included 225 44  
MH6SJ01X(1)4(2) OPP 123  Included 225 44  
MH6SO01X(1)4(2) OPP 151  Included 200 39  
MH6SR01X(1)4(2) OPP 168  Included 200 39  
MH6SS01X(1)4(2) OPP 186  Included 190 37  
MH6ST01X(1)4(2) OPP 193  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SB01X(1)4(2) OPP 78  Included 250 49  
MH8SC01X(1)4(2) OPP 99  Included 250 49  
MH8SE01X(1)4(2) OPP 106  Included 225 44  
MH8SJ01X(1)4(2) OPP 123  Included 225 44  
MH8SO01X(1)4(2) OPP 151  Included 200 39  
MH8SR01X(1)4(2) OPP 168  Included 200 39  
MH8SS01X(1)4(2) OPP 186  Included 190 37  
MH8ST01X(1)4(2) OPP 193   Included 175 34  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             40

FULL-9
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 57  Included 250 49  
MH6SC01X(1)1(2) OPP 76  Included 250 49  
MH6SE01X(1)1(2) OPP 91  Included 225 44  
MH6SJ01X(1)1(2) OPP 100  Included 225 44  
MH6SO01X(1)1(2) OPP 130  Included 200 39  
MH6SR01X(1)1(2) OPP 143  Included 200 39  
MH6SS01X(1)1(2) OPP 156  Included 190 37  
MH6ST01X(1)1(2) OPP 172  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 54  Included 250 49  
MH8SB01X(1)1(2) OPP 60  Included 250 49  
MH8SC01X(1)1(2) OPP 80  Included 250 49  
MH8SE01X(1)1(2) OPP 95  Included 225 44  
MH8SJ01X(1)1(2) OPP 104  Included 225 44  
MH8SO01X(1)1(2) OPP 136  Included 200 39  
MH8SR01X(1)1(2) OPP 149  Included 200 39
MH8SS01X(1)1(2) OPP 163  Included 190 37
MH8ST01X(1)1(2) OPP 179  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             41

FULL-9

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 63   Included 505 95
MHD8SC01X(3)3(4) OPP 77   Included 505 95
MHD8SE01X(3)3(4) OPP 94   Included 505 95
MHD8SJ01X(3)3(4) OPP 114   Included 405 95
MHD8SO01X(3)3(4) OPP 138   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             42

FULL-10
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 68  Included 250 49  
MH6SC01X(1)1(2) OPP 90  Included 250 49  
MH6SE01X(1)1(2) OPP 108  Included 225 44  
MH6SJ01X(1)1(2) OPP 118  Included 225 44  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 64  Included 250 49  
MH8SB01X(1)1(2) OPP 71  Included 250 49  
MH8SC01X(1)1(2) OPP 94  Included 250 49  
MH8SE01X(1)1(2) OPP 113  Included 225 44  
MH8SJ01X(1)1(2) OPP 123  Included 225 44  

8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY
PTO MODEL OUTPUT 

ROT. ENGINE % SPACER GEAR 
ADAPTER STUD KIT INT. 

TORQUE
HP 1000 

RPM
FOOT 

NOTES
MHD8SB01X(3)3(4) OPP 74   Included 505 95
MHD8SC01X(3)3(4) OPP 91   Included 505 95
MHD8SE01X(3)3(4) OPP 111   Included 505 95
MHD8SJ01X(3)3(4) OPP 135   Included 405 95
MHD8SO01X(3)3(4) OPP 164   Included 355 95



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             43

FULL-11
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 70  Included 250 49  
MH6SC01X(1)1(2) OPP 92  Included 250 49  
MH6SE01X(1)1(2) OPP 111  Included 225 44  
MH6SJ01X(1)1(2) OPP 121  Included 225 44  
MH6SO01X(1)1(2) OPP 158  Included 200 39  
MH6SR01X(1)1(2) OPP 173  Included 200 39  
MH6SS01X(1)1(2) OPP 190  Included 190 37  
MH6ST01X(1)1(2) OPP 209  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 66  Included 250 49  
MH8SB01X(1)1(2) OPP 73  Included 250 49  
MH8SC01X(1)1(2) OPP 97  Included 250 49  
MH8SE01X(1)1(2) OPP 116  Included 225 44  
MH8SJ01X(1)1(2) OPP 126  Included 225 44  
MH8SO01X(1)1(2) OPP 165  Included 200 39  
MH8SR01X(1)1(2) OPP 181  Included 200 39
MH8SS01X(1)1(2) OPP 198  Included 190 37
MH8ST01X(1)1(2) OPP 218  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             44

FULL-11

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 76   Included 505 95
MHD8SC01X(3)3(4) OPP 94   Included 505 95
MHD8SE01X(3)3(4) OPP 114   Included 505 95
MHD8SJ01X(3)3(4) OPP 139   Included 405 95
MHD8SO01X(3)3(4) OPP 168   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             45

FULL-12
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 91  Included 250 49  
MH6SC01X(1)1(2) OPP 121  Included 250 49  
MH6SE01X(1)1(2) OPP 146  Included 225 44  
MH6SJ01X(1)1(2) OPP 159  Included 225 44  
MH6SO01X(1)1(2) OPP 208  Included 200 39  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 87  Included 250 49  
MH8SB01X(1)1(2) OPP 96  Included 250 49  
MH8SC01X(1)1(2) OPP 127  Included 250 49  
MH8SE01X(1)1(2) OPP 152  Included 225 44  
MH8SJ01X(1)1(2) OPP 166  Included 225 44  
MH8SO01X(1)1(2) OPP 217  Included 200 39  
MH8SR01X(1)1(2) OPP 238  Included 200 39
MH8SS01X(1)1(2) OPP 261  Included 190 37
MH8ST01X(1)1(2) OPP 286  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             46

FULL-12

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 100   Included 505 95
MHD8SC01X(3)3(4) OPP 123   Included 505 95
MHD8SE01X(3)3(4) OPP 150   Included 505 95
MHD8SJ01X(3)3(4) OPP 182   Included 405 95
MHD8SO01X(3)3(4) OPP 221   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             47

FULL-13
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 57  Included 250 49  
MH6SC01X(1)1(2) OPP 76  Included 250 49  
MH6SE01X(1)1(2) OPP 91  Included 225 44  
MH6SJ01X(1)1(2) OPP 100  Included 225 44  
MH6SO01X(1)1(2) OPP 130  Included 200 39  
MH6SR01X(1)1(2) OPP 143  Included 200 39  
MH6SS01X(1)1(2) OPP 156  Included 190 37  
MH6ST01X(1)1(2) OPP 172  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 54  Included 250 49  
MH8SB01X(1)1(2) OPP 60  Included 250 49  
MH8SC01X(1)1(2) OPP 80  Included 250 49  
MH8SE01X(1)1(2) OPP 95  Included 225 44  
MH8SJ01X(1)1(2) OPP 104  Included 225 44  
MH8SO01X(1)1(2) OPP 136  Included 200 39  
MH8SR01X(1)1(2) OPP 149  Included 200 39
MH8SS01X(1)1(2) OPP 163  Included 190 37
MH8ST01X(1)1(2) OPP 179  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             48

FULL-13

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 63   Included 505 95
MHD8SC01X(3)3(4) OPP 77   Included 505 95
MHD8SE01X(3)3(4) OPP 94   Included 505 95
MHD8SJ01X(3)3(4) OPP 114   Included 405 95
MHD8SO01X(3)3(4) OPP 138   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             49

FULL-14
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 88  Included 250 49  
MH6SC01X(1)1(2) OPP 112  Included 250 49  
MH6SE01X(1)1(2) OPP 120  Included 225 44  
MH6SJ01X(1)1(2) OPP 139  Included 225 44  
MH6SO01X(1)1(2) OPP 171  Included 200 39  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 75  Included 250 49  
MH8SB01X(1)1(2) OPP 92  Included 250 49  
MH8SC01X(1)1(2) OPP 117  Included 250 49  
MH8SE01X(1)1(2) OPP 125  Included 225 44  
MH8SJ01X(1)1(2) OPP 145  Included 225 44  
MH8SO01X(1)1(2) OPP 178  Included 200 39  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             50

FULL-15
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 89  Included 250 49  
MH6SC01X(1)1(2) OPP 118  Included 250 49  
MH6SE01X(1)1(2) OPP 141  Included 225 44  
MH6SJ01X(1)1(2) OPP 154  Included 225 44  
MH6SO01X(1)1(2) OPP 201  Included 200 39  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 84  Included 250 49  
MH8SB01X(1)1(2) OPP 93  Included 250 49  
MH8SC01X(1)1(2) OPP 123  Included 250 49  
MH8SE01X(1)1(2) OPP 147  Included 225 44  
MH8SJ01X(1)1(2) OPP 161  Included 225 44  
MH8SO01X(1)1(2) OPP 210  Included 200 39  
MH8SR01X(1)1(2) OPP 230  Included 200 39
MH8SS01X(1)1(2) OPP 253  Included 190 37
MH8ST01X(1)1(2) OPP 277  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             51

FULL-15

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 97   Included 505 95
MHD8SC01X(3)3(4) OPP 119   Included 505 95
MHD8SE01X(3)3(4) OPP 145   Included 505 95
MHD8SJ01X(3)3(4) OPP 177   Included 405 95
MHD8SO01X(3)3(4) OPP 214   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             52

FULL-16
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 106  Included 250 49  
MH6SC01X(1)1(2) OPP 140  Included 250 49  
MH6SE01X(1)1(2) OPP 168  Included 225 44  
MH6SJ01X(1)1(2) OPP 184  Included 225 44  
MH6SO01X(1)1(2) OPP 240  Included 200 39  
MH6SR01X(1)1(2) OPP 263  Included 200 39  
MH6SS01X(1)1(2) OPP 288  Included 190 37  
MH6ST01X(1)1(2) OPP 317  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 100  Included 250 49  
MH8SB01X(1)1(2) OPP 110  Included 250 49  
MH8SC01X(1)1(2) OPP 147  Included 250 49  
MH8SE01X(1)1(2) OPP 176  Included 225 44  
MH8SJ01X(1)1(2) OPP 192  Included 225 44  
MH8SO01X(1)1(2) OPP 251  Included 200 39  
MH8SR01X(1)1(2) OPP 275  Included 200 39
MH8SS01X(1)1(2) OPP 301  Included 190 37
MH8ST01X(1)1(2) OPP 331  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             53

FULL-16

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 111   Included 505 95
MHD8SC01X(3)3(4) OPP 136   Included 505 95
MHD8SE01X(3)3(4) OPP 166   Included 505 95
MHD8SJ01X(3)3(4) OPP 202   Included 405 95
MHD8SO01X(3)3(4) OPP 244   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             54

FULL-17
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 89  Included 250 49  
MH6SC01X(1)1(2) OPP 118  Included 250 49  
MH6SE01X(1)1(2) OPP 141  Included 225 44  
MH6SJ01X(1)1(2) OPP 154  Included 225 44  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 84  Included 250 49  
MH8SB01X(1)1(2) OPP 93  Included 250 49  
MH8SC01X(1)1(2) OPP 123  Included 250 49  
MH8SE01X(1)1(2) OPP 148  Included 225 44  
MH8SJ01X(1)1(2) OPP 161  Included 225 44  
MH8SO01X(1)1(2) OPP 211  Included 200 39  

8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY
PTO MODEL OUTPUT 

ROT. ENGINE % SPACER GEAR 
ADAPTER STUD KIT INT. 

TORQUE
HP 1000 

RPM
FOOT 

NOTES
MHD8SB01X(3)3(4) OPP 93   Included 505 95
MHD8SC01X(3)3(4) OPP 114   Included 505 95
MHD8SE01X(3)3(4) OPP 139   Included 505 95
MHD8SJ01X(3)3(4) OPP 170   Included 405 95



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             55

FULL-18
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 100  Included 250 49  
MH6SC01X(1)1(2) OPP 133  Included 250 49  
MH6SE01X(1)1(2) OPP 159  Included 225 44  
MH6SJ01X(1)1(2) OPP 174  Included 225 44  
MH6SO01X(1)1(2) OPP 228  Included 200 39  
MH6SR01X(1)1(2) OPP 249  Included 200 39  
MH6SS01X(1)1(2) OPP 273  Included 190 37  
MH6ST01X(1)1(2) OPP 300  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 95  Included 250 49  
MH8SB01X(1)1(2) OPP 105  Included 250 49  
MH8SC01X(1)1(2) OPP 139  Included 250 49  
MH8SE01X(1)1(2) OPP 166  Included 225 44  
MH8SJ01X(1)1(2) OPP 182  Included 225 44  
MH8SO01X(1)1(2) OPP 238  Included 200 39  
MH8SR01X(1)1(2) OPP 260  Included 200 39
MH8SS01X(1)1(2) OPP 285  Included 190 37
MH8ST01X(1)1(2) OPP 313  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             56

FULL-18

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 105   Included 505 95
MHD8SC01X(3)3(4) OPP 129   Included 505 95
MHD8SE01X(3)3(4) OPP 157   Included 505 95
MHD8SJ01X(3)3(4) OPP 191   Included 405 95
MHD8SO01X(3)3(4) OPP 231   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             57

FULL-19
TRANSMISSION  Gear Data: TOP SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 8- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Forward of Centerline
30 TEETH - SPUR 30 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

TOP SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA02X(1)3(2) OPP 73  Included 250 49  
MH8SB02X(1)3(2) OPP 81  Included 250 49  
MH8SC02X(1)3(2) OPP 107  Included 250 49  
MH8SE02X(1)3(2) OPP 128  Included 225 44  
MH8SJ02X(1)3(2) OPP 140  Included 225 44  
MH8SO02X(1)3(2) OPP 184  Included 200 39  
MH8SR02X(1)3(2) OPP 201  Included 200 39  
MH8SS02X(1)3(2) OPP 220  Included 190 37  
MH8ST02X(1)3(2) OPP 242 Included 175 34

BOTTOM SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB02X(1)1(2) OPP 81 MGA-6032 Included 250 49  
MH6SC02X(1)1(2) OPP 107 MGA-6032 Included 250 49  
MH6SE02X(1)1(2) OPP 128 MGA-6032 Included 225 44  
MH6SJ02X(1)1(2) OPP 140 MGA-6032 Included 225 44  
MH6SO02X(1)1(2) OPP 184 MGA-6032 Included 200 39  
MH6SR02X(1)1(2) OPP 201 MGA-6032 Included 200 39
MH6SS02X(1)1(2) OPP 220 MGA-6032 Included 190 37
MH6ST02X(1)1(2) OPP 242 MGA-6032 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             58

FULL-20
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 65  Included 250 49  
MH6SC01X(1)1(2) OPP 87  Included 250 49  
MH6SE01X(1)1(2) OPP 104  Included 225 44  
MH6SJ01X(1)1(2) OPP 113  Included 225 44  
MH6SO01X(1)1(2) OPP 148  Included 200 39  
MH6SR01X(1)1(2) OPP 162  Included 200 39  
MH6SS01X(1)1(2) OPP 178  Included 190 37  
MH6ST01X(1)1(2) OPP 198  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 62  Included 250 49  
MH8SB01X(1)1(2) OPP 68  Included 250 49  
MH8SC01X(1)1(2) OPP 90  Included 250 49  
MH8SE01X(1)1(2) OPP 108  Included 225 44  
MH8SJ01X(1)1(2) OPP 118  Included 225 44  
MH8SO01X(1)1(2) OPP 155  Included 200 39  
MH8SR01X(1)1(2) OPP 170  Included 200 39
MH8SS01X(1)1(2) OPP 186  Included 190 37
MH8ST01X(1)1(2) OPP 204  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             59

FULL-20

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 68   Included 505 95
MHD8SC01X(3)3(4) OPP 84   Included 505 95
MHD8SE01X(3)3(4) OPP 102   Included 505 95
MHD8SJ01X(3)3(4) OPP 124   Included 405 95
MHD8SO01X(3)3(4) OPP 151   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             60

FULL-21
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
33 TEETH - SPUR 33 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0900" (27.6900MM) .8100" (20.5700MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 59  Included 250 49  
MH6SC01X(1)1(2) OPP 79  Included 250 49  
MH6SE01X(1)1(2) OPP 95  Included 225 44  
MH6SJ01X(1)1(2) OPP 103  Included 225 44  
MH6SO01X(1)1(2) OPP 135  Included 200 39  
MH6SR01X(1)1(2) OPP 148  Included 200 39  
MH6SS01X(1)1(2) OPP 162  Included 190 37  
MH6ST01X(1)1(2) OPP 178  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 54  Included 250 49  
MH8SB01X(1)1(2) OPP 59  Included 250 49  
MH8SC01X(1)1(2) OPP 79  Included 250 49  
MH8SE01X(1)1(2) OPP 95  Included 225 44  
MH8SJ01X(1)1(2) OPP 103  Included 225 44  
MH8SO01X(1)1(2) OPP 135  Included 200 39  
MH8SR01X(1)1(2) OPP 148  Included 200 39
MH8SS01X(1)1(2) OPP 162  Included 190 37
MH8ST01X(1)1(2) OPP 178  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             61

FULL-21

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 60   Included 505 95
MHD8SC01X(3)3(4) OPP 73   Included 505 95
MHD8SE01X(3)3(4) OPP 89   Included 505 95
MHD8SJ01X(3)3(4) OPP 108   Included 405 95
MHD8SO01X(3)3(4) OPP 131   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             62

FULL-22
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Forward of Centerline
38 TEETH - R.H. HELIX 38 TEETH - R.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5590MM) 1.0850" (27.5590MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC17X(1)1(2) OPP 66 M6062 Included 250 49  
MH6SE17X(1)1(2) OPP 79 M6062 Included 225 44  
MH6SJ17X(1)1(2) OPP 86 M6062 Included 225 44  
MH6SO17X(1)1(2) OPP 112 M6062 Included 200 39  
MH6SR17X(1)1(2) OPP 123 M6062 Included 200 39  
MH6SS17X(1)1(2) OPP 135 M6062 Included 190 37  
MH6ST17X(1)1(2) OPP 148 M6062 Included 175 34  

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC17X(1)3(2) OPP 66 M6062 Included 250 49  
MH6SE17X(1)3(2) OPP 79 M6062 Included 225 44  
MH6SJ17X(1)3(2) OPP 86 M6062 Included 225 44  
MH6SO17X(1)3(2) OPP 112 M6062 Included 200 39  
MH6SR17X(1)3(2) OPP 123 M6062 Included 200 39
MH6SS17X(1)3(2) OPP 135 M6062 Included 190 37
MH6ST17X(1)3(2) OPP 148 M6062 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             63

FULL-23
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Forward of Centerline
39 TEETH - R.H. HELIX 39 TEETH - R.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0000" (25.4000MM) 1.0000" (25.4000MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6NC17X(1)1(2) OPP 62 M6165 MH170-3X 250 49  
MH6NE17X(1)1(2) OPP 74 M6165 MH170-3X 225 44  

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6NC17X(1)3(2) OPP 62 M6165 MH170-3X 250 49  
MH6NE17X(1)3(2) OPP 74 M6165 MH170-3X 225 44  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             64

FULL-24
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Rear of Centerline
33 TEETH - L.H. HELIX 19 TEETH - L.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
.9980" (25.3492MM) 1.0850" (27.5590MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

Nothing Available At This Time

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC06X(1)4(2) ENG 30 Included 250 49  
MH6SE06X(1)4(2) ENG 36 Included 225 44  
MH6SJ06X(1)4(2) ENG 40 Included 225 44  
MH6SO06X(1)4(2) ENG 52 Included 200 39  
MH6SR06X(1)4(2) ENG 57 Included 200 39
MH6SS06X(1)4(2) ENG 62 Included 190 37
MH6ST06X(1)4(2) ENG 68 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             65

FULL-25
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Rear of Centerline
33 TEETH - L.H. HELIX 19 TEETH - L.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
.9980" (25.3492MM) 1.0850" (27.5590MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

Nothing Available At This Time

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC06X(1)4(2) ENG 32 Included 250 49  
MH6SE06X(1)4(2) ENG 39 Included 225 44  
MH6SJ06X(1)4(2) ENG 42 Included 225 44  
MH6SO06X(1)4(2) ENG 55 Included 200 39  
MH6SR06X(1)4(2) ENG 60 Included 200 39
MH6SS06X(1)4(2) ENG 66 Included 190 37
MH6ST06X(1)4(2) ENG 73 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             66

FULL-26
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Rear of Centerline
30 TEETH - L.H. HELIX 19 TEETH - L.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
.8750" (22.2250MM) 1.0850" (27.5590MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

Nothing Available At This Time

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC06X(1)4(2) ENG 34 Included 250 49  
MH6SE06X(1)4(2) ENG 41 Included 225 44  
MH6SJ06X(1)4(2) ENG 45 Included 225 44  
MH6SO06X(1)4(2) ENG 58 Included 200 39  
MH6SR06X(1)4(2) ENG 64 Included 200 39
MH6SS06X(1)4(2) ENG 70 Included 190 37
MH6ST06X(1)4(2) ENG 77 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             67

FULL-27
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
78 TEETH - SPUR 78 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
.9740" (24.7400MM) .8650" (21.9710MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6NC27X(1)3(2) OPP 73 M6187 MH170-3X 250 49  
MH6NE27X(1)3(2) OPP 87 M6187 MH170-3X 225 44  
MH6NJ27X(1)3(2) OPP 95 M6187 MH170-3X 225 44  
MH6NO27X(1)3(2) OPP 124 M6187 MH170-3X 200 39  
MH6NR27X(1)3(2) OPP 136 M6187 MH170-3X 200 39  
MH6NS27X(1)3(2) OPP 149 M6187 MH170-3X 190 37  
MH6NT27X(1)3(2) OPP 164 M6187 MH170-3X 175 34  

LEFT SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SC27X(1)3(2) OPP 73 M8062 Included 250 49  
MH8SE27X(1)3(2) OPP 87 M8062 Included 225 44  
MH8SJ27X(1)3(2) OPP 95 M8062 Included 225 44  
MH8SO27X(1)3(2) OPP 124 M8062 Included 200 39  
MH8SR27X(1)3(2) OPP 136 M8062 Included 200 39
MH8SS27X(1)3(2) OPP 149 M8062 Included 190 37
MH8ST27X(1)3(2) OPP 164 M8062 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             68

FULL-28
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Rear of Centerline
78 TEETH - SPUR 78 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
.9740" (24.7400MM) .8650" (21.9710MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6NC27X(1)2(2) OPP 73 M6187 MH170-3X 250 49  
MH6NE27X(1)2(2) OPP 88 M6187 MH170-3X 225 44  
MH6NJ27X(1)2(2) OPP 96 M6187 MH170-3X 225 44  

LEFT SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SC27X(1)2(2) OPP 73 MGA-8032 Included 250 49  
MH8SE27X(1)2(2) OPP 88 MGA-8032 Included 225 44  
MH8SJ27X(1)2(2) OPP 96 MGA-8032 Included 225 44  



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             69

FULL-29
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 79  Included 250 49  
MH6SC01X(1)1(2) OPP 105  Included 250 49  
MH6SE01X(1)1(2) OPP 125  Included 225 44  
MH6SJ01X(1)1(2) OPP 137  Included 225 44  
MH6SO01X(1)1(2) OPP 179  Included 200 39  
MH6SR01X(1)1(2) OPP 196  Included 200 39  
MH6SS01X(1)1(2) OPP 215  Included 190 37  
MH6ST01X(1)1(2) OPP 236  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 75  Included 250 49  
MH8SB01X(1)1(2) OPP 82  Included 250 49  
MH8SC01X(1)1(2) OPP 109  Included 250 49  
MH8SE01X(1)1(2) OPP 131  Included 225 44  
MH8SJ01X(1)1(2) OPP 143  Included 225 44  
MH8SO01X(1)1(2) OPP 187  Included 200 39  
MH8SR01X(1)1(2) OPP 205  Included 200 39
MH8SS01X(1)1(2) OPP 224  Included 190 37
MH8ST01X(1)1(2) OPP 246  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             70

FULL-29

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 86   Included 505 95
MHD8SC01X(3)3(4) OPP 106   Included 505 95
MHD8SE01X(3)3(4) OPP 129   Included 505 95
MHD8SJ01X(3)3(4) OPP 157   Included 405 95
MHD8SO01X(3)3(4) OPP 190   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             71

FULL-30
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 106  Included 250 49  
MH6SC01X(1)1(2) OPP 140  Included 250 49  
MH6SE01X(1)1(2) OPP 168  Included 225 44  
MH6SJ01X(1)1(2) OPP 184  Included 225 44  
MH6SO01X(1)1(2) OPP 240  Included 200 39  
MH6SR01X(1)1(2) OPP 263  Included 200 39  
MH6SS01X(1)1(2) OPP 288  Included 190 37  
MH6ST01X(1)1(2) OPP 317  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 100  Included 250 49  
MH8SB01X(1)1(2) OPP 110  Included 250 49  
MH8SC01X(1)1(2) OPP 147  Included 250 49  
MH8SE01X(1)1(2) OPP 176  Included 225 44  
MH8SJ01X(1)1(2) OPP 192  Included 225 44  
MH8SO01X(1)1(2) OPP 251  Included 200 39  
MH8SR01X(1)1(2) OPP 275  Included 200 39
MH8SS01X(1)1(2) OPP 301  Included 190 37
MH8ST01X(1)1(2) OPP 331  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             72

FULL-30

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 116   Included 505 95
MHD8SC01X(3)3(4) OPP 142   Included 505 95
MHD8SE01X(3)3(4) OPP 173   Included 505 95
MHD8SJ01X(3)3(4) OPP 211   Included 405 95
MHD8SO01X(3)3(4) OPP 255   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             73

FULL-31
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SB01X(1)1(2) OPP 93  Included 250 49  
MH6SC01X(1)1(2) OPP 119  Included 250 49  
MH6SE01X(1)1(2) OPP 128  Included 225 44  
MH6SJ01X(1)1(2) OPP 148  Included 225 44  
MH6SO01X(1)1(2) OPP 180  Included 200 39  
MH6SR01X(1)1(2) OPP 201  Included 200 39  
MH6SS01X(1)1(2) OPP 228  Included 190 37  
MH6ST01X(1)1(2) OPP 237  Included 175 34  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8SA01X(1)1(2) OPP 79  Included 250 49  
MH8SB01X(1)1(2) OPP 98  Included 250 49  
MH8SC01X(1)1(2) OPP 124  Included 250 49  
MH8SE01X(1)1(2) OPP 133  Included 225 44  
MH8SJ01X(1)1(2) OPP 154  Included 225 44  
MH8SO01X(1)1(2) OPP 188  Included 200 39  
MH8SR01X(1)1(2) OPP 210  Included 200 39
MH8SS01X(1)1(2) OPP 238  Included 190 37
MH8ST01X(1)1(2) OPP 247  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             74

FULL-31

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8SB01X(3)3(4) OPP 97   Included 505 95
MHD8SC01X(3)3(4) OPP 119   Included 505 95
MHD8SE01X(3)3(4) OPP 146   Included 505 95
MHD8SJ01X(3)3(4) OPP 177   Included 405 95
MHD8SO01X(3)3(4) OPP 214   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             75

FULL-32
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6GB01X(1)1(2) OPP 95  Included 250 49  
MH6GC01X(1)1(2) OPP 125  Included 250 49  
MH6GE01X(1)1(2) OPP 150  Included 225 44  
MH6GJ01X(1)1(2) OPP 164  Included 225 44  
MH6GO01X(1)1(2) OPP 215  Included 200 39  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8GA01X(1)1(2) OPP 90  Included 250 49  
MH8GB01X(1)1(2) OPP 99  Included 250 49  
MH8GC01X(1)1(2) OPP 131  Included 250 49  
MH8GE01X(1)1(2) OPP 157  Included 225 44  
MH8GJ01X(1)1(2) OPP 172  Included 225 44  
MH8GO01X(1)1(2) OPP 224  Included 200 39  
MH8GR01X(1)1(2) OPP 245  Included 200 39
MH8GS01X(1)1(2) OPP 269  Included 190 37
MH8GT01X(1)1(2) OPP 296  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             76

FULL-32

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8GB01X(3)3(4) OPP 103   Included 505 95
MHD8GC01X(3)3(4) OPP 127   Included 505 95
MHD8GE01X(3)3(4) OPP 155   Included 505 95
MHD8GJ01X(3)3(4) OPP 188   Included 405 95
MHD8GO01X(3)3(4) OPP 228   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             77

FULL-33
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6GB01X(1)1(2) OPP 73  Included 250 49  
MH6GC01X(1)1(2) OPP 97  Included 250 49  
MH6GE01X(1)1(2) OPP 116  Included 225 44  
MH6GJ01X(1)1(2) OPP 127  Included 225 44  
MH6GO01X(1)1(2) OPP 166  Included 200 39  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8GB01X(1)1(2) OPP 76  Included 250 49  
MH8GC01X(1)1(2) OPP 101  Included 250 49  
MH8GE01X(1)1(2) OPP 122  Included 225 44  
MH8GJ01X(1)1(2) OPP 133  Included 225 44  
MH8GO01X(1)1(2) OPP 174  Included 200 39  
MH8GR01X(1)1(2) OPP 190  Included 200 39
MH8GS01X(1)1(2) OPP 208  Included 190 37
MH8GT01X(1)1(2) OPP 229  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             78

FULL-33

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8GB01X(3)3(4) OPP 80   Included 505 95
MHD8GC01X(3)3(4) OPP 98   Included 505 95
MHD8GE01X(3)3(4) OPP 120   Included 505 95
MHD8GJ01X(3)3(4) OPP 146   Included 405 95
MHD8GO01X(3)3(4) OPP 176   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             79

FULL-34
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6GB01X(1)1(2) OPP 98  Included 250 49  
MH6GC01X(1)1(2) OPP 130  Included 250 49  
MH6GE01X(1)1(2) OPP 156  Included 225 44  
MH6GJ01X(1)1(2) OPP 170  Included 225 44  
MH6GO01X(1)1(2) OPP 222  Included 200 39  

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH8GA01X(1)1(2) OPP 93  Included 250 49  
MH8GB01X(1)1(2) OPP 102  Included 250 49  
MH8GC01X(1)1(2) OPP 136  Included 250 49  
MH8GE01X(1)1(2) OPP 163  Included 225 44  
MH8GJ01X(1)1(2) OPP 178  Included 225 44  
MH8GO01X(1)1(2) OPP 232  Included 200 39  
MH8GR01X(1)1(2) OPP 254  Included 200 39
MH8GS01X(1)1(2) OPP 279  Included 190 37
MH8GT01X(1)1(2) OPP 306  Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             80

FULL-34

BOTTOM SIDE ONLY
8 BOLT - ONE SPEED - TWO GEAR - HEAVY DUTY

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MHD8GB01X(3)3(4) OPP 107   Included 505 95
MHD8GC01X(3)3(4) OPP 132   Included 505 95
MHD8GE01X(3)3(4) OPP 160   Included 505 95
MHD8GJ01X(3)3(4) OPP 195   Included 405 95
MHD8GO01X(3)3(4) OPP 236   Included 355 95

TRANSMISSION Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: BOTTOM SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 8- Bolt Opening - Gear Forward of Centerline
45 TEETH - SPUR 47 TEETH - SPUR
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) .8050" (20.4500MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

(6) Hydrid Electric Systems  If you have a Hybrid Electric System in your truck, please contact customer service for application.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             81

FULL-35
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Forward of Centerline
48 TEETH - R.H. HELIX 48 TEETH - R.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
.4900” (12.4460MM) .4900" (12.4460MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6NC28X(1)1(2) OPP 98 M6500 MH170-5X 250 49 5
MH6NE28X(1)1(2) OPP 117 M6500 MH170-5X 225 44 5
MH6NJ28X(1)1(2) OPP 128 M6500 MH170-5X 225 44 5
MH6NO28X(1)1(2) OPP 168 M6500 MH170-5X 200 39 5
MH6NR28X(1)1(2) OPP 183 M6500 MH170-5X 200 39 5
MH6NS28X(1)1(2) OPP 201 M6500 MH170-5X 190 37 5
MH6NT28X(1)1(2) OPP 221 M6500 MH170-5X 175 34 5

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6NC28X(1)3(2) OPP 98 M6500 Included 250 49 5,6 
MH6NE28X(1)3(2) OPP 117 M6500 Included 225 44 5,6 
MH6NJ28X(1)3(2) OPP 128 M6500 Included 225 44 5,6 
MH6NO28X(1)3(2) OPP 168 M6500 Included 200 39 5,6 
MH6NR28X(1)3(2) OPP 183 M6500 Included 200 39 5,6 
MH6NS28X(1)3(2) OPP 201 M6500 Included 190 37 5,6 
MH6NT28X(1)3(2) OPP 221 M6500 Included 175 34 5,6



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             82

FULL-36
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Forward of Centerline
38 TEETH - R.H. HELIX 38 TEETH - R.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.0850" (27.5600MM) 1.0850” (27.5600MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC17X(1)1(2) OPP 68 M6062 Included 250 49  
MH6SE17X(1)1(2) OPP 82 M6062 Included 225 44  
MH6SJ17X(1)1(2) OPP 89 M6062 Included 225 44  
MH6SO17X(1)1(2) OPP 117 M6062 Included 200 39  
MH6SR17X(1)1(2) OPP 128 M6062 Included 200 39  
MH6SS17X(1)1(2) OPP 140 M6062 Included 190 37  
MH6ST17X(1)1(2) OPP 154 M6062 Included 175 34  

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC17X(1)1(2) OPP 68 M6062 Included 250 49  
MH6SE17X(1)1(2) OPP 82 M6062 Included 225 44  
MH6SJ17X(1)1(2) OPP 89 M6062 Included 225 44  
MH6SO17X(1)1(2) OPP 117 M6062 Included 200 39  
MH6SR17X(1)1(2) OPP 128 M6062 Included 200 39  
MH6SS17X(1)1(2) OPP 140 M6062 Included 190 37  
MH6ST17X(1)1(2) OPP 154 M6062 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             83

FULL-37
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Forward of Centerline
39 TEETH - R.H. HELIX 39 TEETH - R.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.1460" (29.1080MM) 1.1460” (29.1080MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC42X(1)1(2) OPP 62 M6062 Included 250 49  
MH6SE42X(1)1(2) OPP 74 M6062 Included 225 44  
MH6SJ42X(1)1(2) OPP 81 M6062 Included 225 44  
MH6SO42X(1)1(2) OPP 106 M6062 Included 200 39  
MH6SR42X(1)1(2) OPP 116 M6062 Included 200 39  
MH6SS42X(1)1(2) OPP 127 M6062 Included 190 37  
MH6ST42X(1)1(2) OPP 139 M6062 Included 175 34  

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC42X(1)3(2) OPP 62 M6062 Included 250 49  
MH6SE42X(1)3(2) OPP 74 M6062 Included 225 44  
MH6SJ42X(1)3(2) OPP 81 M6062 Included 225 44  
MH6SO42X(1)3(2) OPP 106 M6062 Included 200 39  
MH6SR42X(1)3(2) OPP 116 M6062 Included 200 39  
MH6SS42X(1)3(2) OPP 127 M6062 Included 190 37  
MH6ST42X(1)3(2) OPP 139 M6062 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             84

FULL-38
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Forward of Centerline
28 TEETH - R.H. HELIX 28 TEETH - R.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.1469" (29.1313MM) 1.1469” (29.1313MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC18X(1)1(2) OPP 49 Included 250 49  
MH6SE18X(1)1(2) OPP 59 Included 225 44  
MH6SJ18X(1)1(2) OPP 65 Included 225 44  
MH6SO18X(1)1(2) OPP 85 Included 200 39  
MH6SR18X(1)1(2) OPP 93 Included 200 39  
MH6SS18X(1)1(2) OPP 102 Included 190 37  
MH6ST18X(1)1(2) OPP 112 Included 175 34  

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC18X(1)3(2) OPP 49 Included 250 49  
MH6SE18X(1)3(2) OPP 59 Included 225 44  
MH6SJ18X(1)3(2) OPP 65 Included 225 44  
MH6SO18X(1)3(2) OPP 85 Included 200 39  
MH6SR18X(1)3(2) OPP 93 Included 200 39  
MH6SS18X(1)3(2) OPP 102 Included 190 37  
MH6ST18X(1)3(2) OPP 112 Included 175 34



PTO Applications

EATON/FULLER

FOOTNOTES MAY AFFECT PTO SELECTION
(1) Pick Shifting Option  (A=AIR) (L=LEVER) (M=CONSTANT MESH) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(2) Pick Output Option (DA=DIN 5462 8T) (GA= ROTATABLE GREASEABLE "B" 2/4 BOLT 7/8" 13T) (GB= ROTATABLE GREASEABLE "B" 2/4 BOLT 1" 15T) (RA=ROTATABLE SAE "B" 2/4 
BOLT 7/8" 13T) (RB=ROTATABLE SAE "B" 2/4 BOLT 1" 15T) (RC=ROTATABLE SAE "B" 2/4 BOLT 1-1/4' 14T) (SB=ROTATABLE SAE "BB" 2 BOLT 1" 15T)
(SD= ROTATABLE SAE "B" 2 BOLT 7/8" 13T) (SE= 1.250 ROUND SHAFT) (SF= "A" 5/8" 2 BOLT 9T) (TP=TYRONE PUMP 7/8" 13T)

(3) Pick Shifting Option  (A=AIR) (N=AIR/NO CONTROLLER) (S=DUAL AIR/W KICKOUT) (T=DUAL AIR W/O KICKOUT) (W=WIRE)

(4) Pick Output Option  (IC=1410 SPICER® FLANGE) (RJ=ROTATABLE SAE "C" 4 BOLT 1.125 14T) (SE=1.25 ROUND SHAFT)

(5) Eaton UltraShift
(DM2 & DM3 ONLY)                   

This transmission must have a signal from the PTO when activated. Please refer to Eaton Installation Guide "TRIG-2600" for proper wiring diagrams. Engine/Transmission 
speed must be at least 1000 RPM for proper operation.

A Hydraulex Global Company

Hydraulex Global PTO Application Catalog PTOACFuller-Rev 04.2014             85

FULL-39
TRANSMISSION  Gear Data: RIGHT SIDE TRANSMISSION  Gear Data: LEFT SIDE
R.H. 6- Bolt Opening - Gear Forward of Centerline L.H. 6- Bolt Opening - Gear Forward of Centerline
28 TEETH - R.H. HELIX 28 TEETH - R.H. HELIX
PITCH LINE TO APERTURE FACE: PITCH LINE TO APERTURE FACE:
1.1469" (29.1313MM) 1.1469” (29.1313MM)

Caution: Maximum Output Shaft Speed 2500 rpm’s

RIGHT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC18X(1)1(2) OPP 57 Included 250 49  
MH6SE18X(1)1(2) OPP 68 Included 225 44  
MH6SJ18X(1)1(2) OPP 75 Included 225 44  
MH6SO18X(1)1(2) OPP 98 Included 200 39  
MH6SR18X(1)1(2) OPP 107 Included 200 39  
MH6SS18X(1)1(2) OPP 117 Included 190 37  
MH6ST18X(1)1(2) OPP 129 Included 175 34  

LEFT SIDE ONLY
6 BOLT - ONE SPEED - TWO GEAR

PTO MODEL OUTPUT 
ROT. ENGINE % SPACER GEAR 

ADAPTER STUD KIT INT. 
TORQUE

HP 1000 
RPM

FOOT 
NOTES

MH6SC18X(1)3(2) OPP 57 Included 250 49  
MH6SE18X(1)3(2) OPP 68 Included 225 44  
MH6SJ18X(1)3(2) OPP 75 Included 225 44  
MH6SO18X(1)3(2) OPP 98 Included 200 39  
MH6SR18X(1)3(2) OPP 107 Included 200 39  
MH6SS18X(1)3(2) OPP 117 Included 190 37  
MH6ST18X(1)3(2) OPP 129 Included 175 34


	Full-1
	Full-2
	Full-3
	Full-4
	Full-5
	Full-6
	Full-7
	Full-8
	Full-9
	Full-10
	Full-11
	Full-12
	Full-13
	Full-14
	Full-15
	Full-16
	Full-17
	Full-18
	Full-19
	Full-20
	Full-21
	Full-22
	Full-23
	Full-24
	Full-25
	Full-26
	Full-27
	Full-28
	Full-29
	Full-30
	Full-31
	Full-32
	Full-33
	Full-34
	Full-35
	Full-36
	Full-37
	Full-38
	Full-39
	Back to Top

	Button 2: 
	Button 3: 
	Button 4: 
	Button 5: 
	Button 6: 
	Button 7: 
	Button 8: 
	Button 9: 
	Button 10: 
	Button 11: 
	Button 12: 
	Button 13: 
	Button 66: 
	Button 67: 
	Button 68: 
	Button 69: 
	Button 70: 
	Button 71: 
	Button 72: 
	Button 73: 
	Button 74: 
	Button 75: 
	Button 76: 
	Button 77: 
	Button 78: 
	Button 79: 
	Button 80: 
	Button 81: 
	Button 82: 
	Button 83: 
	Button 84: 
	Button 85: 
	Button 86: 
	Button 87: 
	Button 88: 
	Button 89: 
	Button 90: 
	Button 91: 
	Button 92: 
	Button 94: 
	Button 95: 
	Button 96: 
	Button 97: 
	Button 98: 
	Button 99: 
	Button 100: 
	Button 101: 
	Button 102: 
	Button 103: 
	Button 104: 
	Button 105: 
	Button 106: 
	Button 107: 
	Button 108: 
	Button 109: 
	Button 110: 
	Button 111: 
	Button 112: 
	Button 113: 
	Button 114: 
	Button 115: 
	Button 116: 
	Button 117: 
	Button 118: 
	Button 119: 
	Button 120: 
	Button 121: 
	Button 122: 
	Button 123: 
	Button 124: 
	Button 133: 
	Button 134: 
	Button 135: 
	Button 136: 
	Button 137: 
	Button 138: 
	Button 139: 
	Button 140: 
	Button 141: 
	Button 142: 
	Button 143: 
	Button 144: 
	Button 145: 
	Button 146: 
	Button 147: 
	Button 148: 
	Button 149: 
	Button 150: 
	Button 151: 
	Button 152: 
	Button 153: 
	Button 154: 
	Button 156: 
	Button 160: 
	Button 161: 
	Button 163: 
	Button 167: 
	Button 168: 
	Button 171: 
	Button 172: 
	Button 174: 
	Button 177: 
	Button 178: 
	Button 180: 
	Button 181: 
	Button 182: 
	Button 184: 
	Button 185: 
	Button 186: 
	Button 187: 
	Button 190: 
	Button 191: 
	Button 192: 
	Button 193: 
	Button 195: 
	Button 197: 
	Button 203: 
	Button 205: 
	Button 206: 
	Button 209: 
	Button 210: 
	Button 213: 
	Button 214: 
	Button 215: 
	Button 222: 
	Button 224: 
	Button 225: 
	Button 226: 
	Button 227: 
	Button 231: 
	Button 241: 
	Button 245: 
	Button 247: 
	Button 275: 
	Button 276: 
	Button 277: 
	Button 278: 
	Button 279: 
	Button 280: 
	Button 281: 
	Button 282: 
	Button 283: 
	Button 284: 
	Button 285: 
	Button 286: 
	Button 287: 
	Button 288: 
	Button 289: 
	Button 290: 
	Button 291: 
	Button 292: 
	Button 293: 
	Button 294: 
	Button 295: 
	Button 296: 
	Button 297: 
	Button 298: 
	Button 299: 
	Button 300: 
	Button 301: 
	Button 302: 
	Button 303: 
	Button 304: 
	Button 305: 
	Button 306: 
	Button 307: 
	Button 308: 
	Button 309: 
	Button 310: 
	Button 311: 
	Button 312: 
	Button 313: 
	Button 314: 
	Button 315: 
	Button 316: 
	Button 317: 
	Button 318: 
	Button 319: 
	Button 320: 
	Button 321: 
	Button 322: 
	Button 323: 
	Button 324: 
	Button 325: 
	Button 326: 
	Button 327: 
	Button 328: 
	Button 329: 
	Button 330: 
	Button 331: 
	Button 332: 
	Button 333: 
	Button 334: 
	Button 335: 
	Button 336: 
	Button 337: 
	Button 338: 
	Button 339: 
	Button 340: 
	Button 341: 
	Button 342: 
	Button 343: 
	Button 344: 
	Button 345: 
	Button 346: 
	Button 347: 
	Button 348: 
	Button 349: 
	Button 350: 
	Button 351: 
	Button 352: 
	Button 353: 
	Button 354: 
	Button 355: 
	Button 356: 
	Button 357: 
	Button 358: 
	Button 359: 
	Button 360: 
	Button 361: 
	Button 362: 
	Button 363: 
	Button 364: 
	Button 365: 
	Button 366: 
	Button 367: 
	Button 368: 
	Button 369: 
	Button 370: 
	Button 371: 
	Button 372: 
	Button 373: 
	Button 374: 
	Button 375: 
	Button 376: 
	Button 377: 
	Button 378: 
	Button 379: 
	Button 380: 
	Button 381: 
	Button 382: 
	Button 383: 
	Button 384: 
	Button 385: 
	Button 386: 
	Button 387: 
	Button 388: 
	Button 389: 
	Button 390: 
	Button 391: 
	Button 392: 
	Button 393: 
	Button 394: 
	Button 395: 
	Button 396: 
	Button 397: 
	Button 398: 
	Button 399: 
	Button 400: 
	Button 401: 
	Button 402: 
	Button 403: 
	Button 404: 
	Button 405: 
	Button 406: 
	Button 407: 
	Button 408: 
	Button 409: 
	Button 410: 
	Button 411: 
	Button 412: 
	Button 413: 
	Button 414: 
	Button 415: 
	Button 416: 
	Button 417: 
	Button 418: 
	Button 419: 
	Button 420: 
	Button 421: 
	Button 422: 
	Button 423: 
	Button 424: 
	Button 425: 
	Button 426: 
	Button 427: 
	Button 428: 
	Button 429: 
	Button 430: 
	Button 431: 
	Button 432: 
	Button 433: 
	Button 434: 
	Button 435: 
	Button 436: 
	Button 437: 
	Button 438: 
	Button 439: 
	Button 440: 
	Button 441: 
	Button 442: 
	Button 443: 
	Button 444: 
	Button 445: 
	Button 446: 
	Button 447: 
	Button 448: 
	Button 449: 
	Button 450: 
	Button 451: 
	Button 452: 
	Button 453: 
	Button 454: 
	Button 455: 
	Button 456: 
	Button 457: 
	Button 458: 
	Button 459: 
	Button 460: 
	Button 461: 
	Button 462: 
	Button 463: 
	Button 464: 
	Button 465: 
	Button 466: 
	Button 467: 
	Button 468: 
	Button 469: 
	Button 470: 
	Button 471: 
	Button 472: 
	Button 473: 
	Button 474: 
	Button 475: 
	Button 476: 
	Button 477: 
	Button 478: 
	Button 479: 
	Button 480: 
	Button 481: 
	Button 482: 
	Button 483: 
	Button 484: 
	Button 485: 
	Button 486: 
	Button 487: 
	Button 488: 
	Button 489: 
	Button 490: 
	Button 491: 
	Button 492: 
	Button 493: 
	Button 494: 
	Button 495: 
	Button 496: 
	Button 497: 
	Button 498: 
	Button 499: 
	Button 500: 
	Button 501: 
	Button 502: 
	Button 503: 
	Button 504: 
	Button 505: 
	Button 506: 
	Button 507: 
	Button 508: 
	Button 509: 
	Button 510: 
	Button 511: 
	Button 512: 
	Button 513: 
	Button 514: 
	Button 515: 
	Button 516: 
	Button 517: 
	Button 518: 
	Button 519: 
	Button 520: 
	Button 521: 
	Button 522: 
	Button 523: 
	Button 524: 
	Button 525: 
	Button 526: 
	Button 527: 
	Button 528: 
	Button 529: 
	Button 530: 
	Button 531: 
	Button 532: 
	Button 533: 
	Button 534: 
	Button 535: 
	Button 536: 
	Button 537: 
	Button 538: 
	Button 539: 
	Button 540: 
	Button 542: 
	Button 543: 
	Button 544: 
	Button 545: 
	Button 546: 
	Button 547: 
	Button 548: 
	Button 549: 
	Button 550: 
	Button 551: 
	Button 552: 
	Button 553: 
	Button 554: 
	Button 555: 
	Button 556: 
	Button 557: 
	Button 558: 
	Button 559: 
	Button 560: 
	Button 561: 
	Button 562: 
	Button 563: 
	Button 564: 
	Button 565: 
	Button 566: 
	Button 567: 
	Button 568: 
	Button 570: 
	Button 572: 
	Button 573: 
	Button 574: 
	Button 575: 
	Button 576: 
	Button 577: 
	Button 578: 
	Button 579: 
	Button 580: 
	Button 581: 
	Button 582: 
	Button 583: 
	Button 584: 
	Button 585: 
	Button 586: 
	Button 587: 
	Button 588: 
	Button 589: 
	Button 590: 
	Button 591: 
	Button 592: 
	Button 593: 
	Button 594: 
	Button 595: 
	Button 596: 
	Button 597: 
	Button 598: 
	Button 599: 
	Button 600: 
	Button 601: 
	Button 602: 
	Button 603: 
	Button 604: 
	Button 605: 
	Button 606: 
	Button 607: 
	Button 608: 
	Button 609: 
	Button 610: 
	Button 611: 
	Button 612: 
	Button 613: 
	Button 614: 
	Button 615: 
	Button 616: 
	Button 617: 
	Button 618: 
	Button 619: 
	Button 620: 
	Button 621: 
	Button 622: 
	Button 623: 
	Button 624: 
	Button 625: 
	Button 626: 
	Button 627: 
	Button 628: 
	Button 629: 
	Button 630: 
	Button 631: 
	Button 632: 
	Button 633: 
	Button 634: 
	Button 635: 
	Button 636: 
	Button 637: 
	Button 638: 
	Button 639: 
	Button 640: 
	Button 641: 
	Button 642: 
	Button 643: 
	Button 644: 
	Button 645: 
	Button 646: 
	Button 647: 
	Button 648: 
	Button 649: 
	Button 650: 
	Button 651: 
	Button 652: 
	Button 653: 
	Button 654: 
	Button 655: 
	Button 656: 
	Button 657: 
	Button 658: 
	Button 659: 
	Button 660: 
	Button 661: 
	Button 662: 
	Button 663: 
	Button 664: 
	Button 665: 
	Button 666: 
	Button 667: 
	Button 668: 
	Button 669: 
	Button 670: 
	Button 671: 
	Button 672: 
	Button 673: 
	Button 674: 
	Button 675: 
	Button 676: 
	Button 677: 
	Button 678: 
	Button 679: 
	Button 680: 
	Button 681: 
	Button 682: 
	Button 683: 
	Button 684: 
	Button 685: 
	Button 686: 
	Button 687: 
	Button 688: 
	Button 689: 
	Button 690: 
	Button 691: 
	Button 692: 
	Button 693: 
	Button 694: 
	Button 695: 
	Button 696: 
	Button 697: 
	Button 698: 
	Button 699: 
	Button 700: 
	Button 701: 
	Button 702: 
	Button 703: 
	Button 704: 
	Button 705: 
	Button 706: 
	Button 707: 
	Button 708: 
	Button 709: 
	Button 710: 
	Button 711: 
	Button 719: 
	Button 720: 
	Button 721: 
	Button 722: 
	Button 723: 
	Button 724: 
	Button 725: 
	Button 726: 
	Button 727: 
	Button 728: 
	Button 729: 
	Button 730: 
	Button 731: 
	Button 732: 
	Button 733: 
	Button 734: 
	Button 735: 
	Button 736: 
	Button 737: 
	Button 738: 
	Button 739: 
	Button 740: 
	Button 741: 
	Button 742: 
	Button 743: 
	Button 744: 
	Button 745: 
	Button 746: 
	Button 747: 
	Button 748: 
	Button 749: 
	Button 750: 
	Button 751: 
	Button 752: 
	Button 753: 
	Button 754: 
	Button 755: 
	Button 756: 
	Button 757: 
	Button 761: 
	Button 762: 
	Button 763: 
	Button 764: 
	Button 765: 
	Button 766: 
	Button 771: 
	Button 772: 
	Button 775: 
	Button 776: 
	Button 777: 
	Button 778: 
	Button 779: 
	Button 780: 
	Button 781: 
	Button 782: 
	Button 783: 
	Button 784: 
	Button 785: 
	Button 786: 
	Button 787: 
	Button 788: 
	Button 789: 
	Button 790: 
	Button 791: 
	Button 792: 
	Button 793: 
	Button 794: 
	Button 795: 
	Button 796: 
	Button 797: 
	Button 798: 
	Button 799: 
	Button 800: 
	Button 801: 
	Button 802: 
	Button 803: 
	Button 814: 
	Button 815: 
	Button 816: 
	Button 1010: 
	Page 26: Off
	Page 27: 
	Page 28: 
	Page 29: 
	Page 30: 
	Page 31: 
	Page 32: 
	Page 33: 
	Page 34: 
	Page 35: 
	Page 36: 
	Page 37: 
	Page 38: 
	Page 39: 
	Page 40: 
	Page 41: 
	Page 42: 
	Page 43: 
	Page 44: 
	Page 45: 
	Page 46: 
	Page 47: 
	Page 48: 
	Page 49: 
	Page 50: 
	Page 51: 
	Page 52: 
	Page 53: 
	Page 54: 
	Page 55: 
	Page 56: 
	Page 57: 
	Page 58: 
	Page 59: 
	Page 60: 
	Page 61: 
	Page 62: 
	Page 63: 
	Page 64: 
	Page 65: 
	Page 66: 
	Page 67: 
	Page 68: 
	Page 69: 
	Page 70: 
	Page 71: 
	Page 72: 
	Page 73: 
	Page 74: 
	Page 75: 
	Page 76: 
	Page 77: 
	Page 78: 
	Page 79: 
	Page 80: 
	Page 82: 
	Page 83: 
	Page 84: 
	Page 85: 

	Button 1011: 
	Page 81: Off



